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Topic:- Child Development & Pedagogy (CDP)

1) Who among these psychologlsrs have developed a theory of personality based on 2 dimensions: introvertion and extrovertion? / Eﬂﬂﬁiﬂﬁﬁ
T A a2 A sradE ok afedel & SR W afdia &1 e Rigia fawR fear 8:2

1. Sigmund Freud/ f&vaTs wras

2. Carl Jung/ @Ter ?g'JT

3. Erich From/ TRep Hay

4. Hans Eysenck/ $8 3TTgdd

Correct Answer :-

« Hans Eysenck/ £8 388®

2) Thefullformof SENis___ . / SEN®TQUI®T___ 3|

1. Special emotional negotiation / afm?»r AR AT

2. Social education needs / TRA TSbRH 1gd

3. Special educational needs / TR TIHIAA 1gd

4, Special and exceptional needs / W 3R EH%W:F@H

Correct Answer :-

« Social education needs / SId W&Fﬁﬁ%ﬂ

3) The need for child-centered education has increased mainly because: / qTd-Hid fQT&ﬂ P AT BT HOId: fasrRU S d¢ T %:
1. Parents have no time for their children. / ATAT-TAAT & UTH 37U=Y a<=i & forw G&g c_-l'f?f %I

2. Parents are less qualified. / ATAT-TAT B AT %I

3. Teachers have better qualification. ARSCokT a%?ﬂ' QTIdr ?\-I

4. Teachers are more equipped to deal with overall development. / f§TeR W‘{U‘f T & forw 1fw g‘a‘fﬁa .y

Correct Answer :-

« Teachers are more equipped to deal with overall development. / fTgTeR H?C{UT T & forw 31fw JAlsald gl

4) People who are categorized on the basis of economic condition are known as belonging to a particular . | fore <t &Y e
ey & 3mR o aefigra fomam Smar @ 3+¢ v Ay ¥ Fata ¥ # ST ST 21

1. Ethnic group / TTAH qq
2. Religion / &3¥

3. Class / @1

4. Caste / STfc

Correct Answer :-

« Class /adf



5) Perception of a particular method of teaching is different among learners because: / fRr870T &Y v faety W}Jﬁ Y erRoT ety &
BT & Tt

1. they do not want to learn. / T Hr@gar Hﬁ ared %I

2. they don’t like the topic. / 3= TS &Y UHE, 81 &

3. perception is dependent on the environment learners are accustomed to. / 9TROT fRI&NfHT & vataror WX AR &, @ 3y &1
4, some of them do not like the teacher. / 3 & P 8Tk T U aﬁ LG %I

Correct Answer :-

« perception is dependent on the environment learners are accustomed to. / TROT fRI&TTT & wafaRor v AR &, forads 3w &1
6) What is the primary change that occurs during puberty? / glaar F SR gl arar T fAe aRade Far &

1. Psychological maturity / FAVIATS TRUFar

2. Social maturity / FTHATTSI TIRYFAAT

3. Cognitive maturity / TTATcHAD GRUFIAT

4. Sexual maturity / ZeT aRUeFaar

Correct Answer :-

« Sexual maturity / ZieT aRuaFaar

7) At what age does the newborn recognize the mother’s voice? / &9 37 & Adena feT{; AT 3ATarsT F ggATAdT %?
1. At birth / STTH &

2. At three months / 1 FEIH UT

3. At six months / &: FEA W

4. At nine months / Al FES W

Correct Answer :-

« Atbirth/ SHH T

8) Who was a development theorist of the mid-twentieth century who is best known for his specific and detailed theory of children’s moral

development? / fad eraedy & e # v R RiguiasR Fi a1 3t oot & AT e & sro=r Rfdse sk Rega Rgwa & e smen
ST B2

1. Lawrence Kohlberg / 1H PrgetaraT
2. Vygotsky / AEITTcEhT

3. Piaget / fOr=mer

4. Erikson / 3R&paT

Correct Answer :-

« Lawrence Kohlberg / SR shigerarar

9) Who proposed the “Law of Effect”? / fohaet “wstra &1 s ufaanfea fram?
1. Sternberg / T&TeIaT

2. Fromm / i

3. Thorndike / 2TeT5TSH
4, Bandura / aingr



Correct Answer :-

« Thorndike / UTISTSh

10) Who developed the first intelligence test? / IgelT gajﬁm qdieTor (2¥Fe) frae s faa fram?
1. Binet and Vernon / f9ae 3R =i

2. Binet and Simon / fa=ie 31k =

3. Goddard and Terman / M3TS 31X <3fa

4. Goddard and Wechsler / M3TS 3R doe”k

Correct Answer :-

« Binet and Simon / fdate 3R f{aa

11) Preprimary education in India carried out through Anganwadi Centres falls under the ./ TR H AT el & ATCIT T &Y
et aTelY qd-SrerfAe fRvam & sieaie e 31

1. Ministry of Social Justice and Empowerment / FTHTToTeh «=a1g 3R 1TARTRAT 10
2. Ministry of Health and Family Welfare / TaTe2q 3R ORaR SHearor #dTeT
3. Ministry of Women and Child Development / Ffger 3R arer faera Farery
4. Ministry of Human Resource Development / HTTd ST fIh ST
Correct Answer :-

« Ministry of Women and Child Development / #fgeTr 3R arer farera FTeryy
12) Critical thinking is an aspect of: / 3TgeT RIdeT fHT 1 vh ‘13?[\%

1. Bias / U&urd

2. Reasoning / a&s

3. Belief / ferama

4. Emotion / #Td<T

Correct Answer :-

« Reasoning / d%

13) The judgement of the quality of teaching depends on: / fRr&ToT &y IoTIT HT ot A o i FRar §:
1. Developing a relationship / T4t & fawiid & .

2. Attainment of information / STTeTehIRT < UTTH TR

3. Discipline / 3eJdT U

4. Overall development of student / STAT & T TIhT W

Correct Answer :-

« Overall development of student / STAT & T TIHTT W

14) The abbreviated term ADHD denotes: / HT8¥od 2Tg ADHD (TSwash) R#s Fi geifdr §:
1. Attention Deficit Hypersensitivity Disorder / €T AT AfaadeTeieldT fadr

2. Attention Deficit Hyperactivity Disorder / €31l AT TfhddT fawR



3. Active Deficit Hyperactivity Disorder / Tfsher 311Ta Gfehaar faer
4. Aggression Deficit Hyperactivity Disorder/ 3TTShIFRdT THTT TfhIdT [AhR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder / €T 31HTa Gfthadr fasr

15) Which one of the following is not an internal factor of attention? / RFATATRT & ¥ FAT €I (ITUTA) FT U HTIRP FRE AgT &2
1. Interest / ®fer

2. Intensity / et

3. Mind set / Jd YRUT (AIZS Ie)

4. Motives / 9ROTl

Correct Answer :-

» Intensity / GIEGH

16) Which of the following factors did Kohlberg focus on in his theory of morality? / Flgerast 39e Afawar F Rguia # Arfaf@a FRFI F
F e W eare S frar?

1. Family influences / GR@R THcd
2. Cognitive development / HRATATCH® TIehIE

3. Culture / ﬂﬁﬁﬁ

4. Gender differences / folaT A5

Correct Answer :-
« Cognitive development / H=iTelTcHd ThTd

17) Which of the following is not an objective of Continuous and Comprehensive Evaluation? / Ffaf@a & ¥ Frgaq WWH\?&W
&1 3T G 87

1. Plan teaching-learning situations. / fRI&T0T-317a1eT REATALT T ASTAT IR & |

2. Communicate the child’s progress to different stakeholders. / Sa & yarf @l fafdieer feauRet &I gdm=T |

3. Map changes in the child’s learning and development. / S & 37T91eT 31% faera & IREAAT BT ATATIT FATT |

4. Inculcate fear in the minds of pupils, so that they are able to perform better. / et & a1 3 9737 UeT X, aTfh 3 Agek U oY T |

Correct Answer :-

« Inculcate fear in the minds of pupils, so that they are able to perform better. / fIaTfat & F1at 3 971 UeT AT, AR T JeR UG IR Tah |

18) Which of the following is not a risk factor for drug use that is directly attributed to parents? /
Rrafaf@a & @ Fia a1 397 39T F v HfAA FRE g ¢ Fws e Arar-Rar gvogs1 9 3 swerh sed s

1. Childhood negligence / STeTdTAT ATILATE!
2. Abuse / GedaER

3. Peer rejection / TEehdT TEATRIOT

4. Genetic inheritance / HT@’EI@?? foRraa

Correct Answer :-

« Peer rejection / TEhAT IEAHIOT



19) A child realizes that a four-legged animal that neighs cannot fit into her existing schema of ‘dog’. What process will she undertake to fit
this new information into her schemas? / U& S<= &I T g1aT ¢ f& IR I aTel STra], Y o RefRarar @, Fer & wAiper smar 7 fre adi &
HEdT &1 5H a8 SRR I 59 3MHR A e @ & fow ag i d wimar srgemean?

1. Disequilibration / W?-T
2. Accommodation / GHATATSTA
3. Assimilation / ATcHATT

4. Homeostasis / TS

Correct Answer :-

« Accommodation / HHATISTA

20) A child finds it hard to recall the Hindi letters he learnt for today’s exam because of the Kannada exam he wrote yesterday. What is this

phenomenon known as?/Wﬁﬁmiﬁ'm*mmﬁﬁﬁﬁamiﬁWmﬁmwﬁ@@mﬁﬁ*m
ST 9T &1 36 TeaAT Y FF A1 & ST ST 872

1. Retroactive interference / W IRYg
2. Retrograde interference / TfammeiT 31a”rer
3. Anterograde interference / 3ITITHT 37ARTET
4. Proactive interference / 3-1?11331'@ 3R

Correct Answer :-

« Proactive interference / 3-1'«'1’!«“—!?1’@ 3N

21) According to Vygotsky, child’s language and thought develop . | TSP & IR, T BT HTHT 3R faER
faofa s g1

1. independently of each other, then merge / Tch qg:li { TIdT B 916, A 3uw F afFafoa & s €
2. independently of each other / Teh qgﬁ LIRS
3. universally across the culture / T Fﬂzﬁﬁﬁf R AT &

4. together as child grows / = & fa® & 1Y

Correct Answer :-

« independently of each other, then merge / Tch q\‘Tl' Q TIdT Bl 916, A 3uw F afFafoa & s €

22) Parents who have a lot of rules but support their children to follow the rules, are adhering to ./ Y Arer-foar q9gd IR w9 §
AP 3= Tl FI Pl BT ura HI F 1T werar ad & BT 3R B B

1. Uninvolved Parenting / 376ag Tel-UTyoT

2. Permissive Parenting / Ha?ﬁa?ﬁ UTefel-gIyoT

3. Authoritative Parenting / 3R UTeld-uTyoT (FrUTRefea )

4. Authoritarian Parenting / 31T RATET UTeleT-TvoT (AR 3T TRfEm)

Correct Answer :-

« Authoritative Parenting / 3G uraa-aryor (3-TQJ~ Yefea s )

23) is the desire to act and move towards a goal. / BT B SR Th & B 3R EE‘:I 1 EET%I

1. Perseverance / T&d

2. Valour / G1&d



3. Motivation / 90Tl

4, Grit/ 9%

Correct Answer :-
« Motivation / UOTl

24) Which of the following theorists emphasizes the importance of categorization in the learning process? / fFrafifaa Rigiaer & 4 #19
AT FT e § wiferor & wgd@ W Wk 34 82

1. Kohler / Eﬁ'@?
2. Bandura / €|§Tr
3. Bruner /@eR

4. Pavlov / BCRIG]

Correct Answer :-

« Bruner /@R

25) Problem-based learning in science encourages learners’ scientific habits of mind. Which of these options best describes some of the
guidelines for problem-based learning?/ fa3m & wawar-anenfyd Rren, Rignfat @ 791 Ft amfe snedl @) Miemfed @3l 81 3980 9 Fi9 41
fawer aor-snutfia Risia W & po fenf~d=n &1 3fra aufq war 32

1. Reading, writing, listening/ UceT, forga, gedel

2. Thinking up ideas, using multimedia, making variables/ HECIH 2T BT ST lch, T TATHR TRT Pl FHSTAT
3. Asking questions, constructing a hypothesis, repeated trials/ U US-I, U UReeuT o1 fAmfor BN, dR-IR TRA&0T HAT
4. Discussions, a fixed number of trials, cooperative learning/ =i, Ff3a Tem # wiemr, Tebrt Rrem

Correct Answer :-

« Asking questions, constructing a hypothesis, repeated trials/ W% T&T, T URase0T BT A0 BT, TR-GR ULEI01 HA1

26) The apparatus used for measuring the span of attention is . / 3@y fagia (W SiTE 3ewH) F HIY & e wyad a1 94 aren
IUHRT ]|

1. Tachistoscope / SFORFEIEDIT
2. Microscope / EFI'I%?HHTHU

3. Telescope / TR

4. Epidiascope / m

Correct Answer :-

« Tachistoscope / SfIEeIEeRIT

27) 1d, ego, superego is put forth by: / U9, 38, WIE (Juvs) 9 # A frad gr1 wiftq f5a w2
1. Maslow / SATEaAT

2. Pavlov / Uaelra

3. Jung/ ?IJT

4, Freud / 1T

Correct Answer :-

o Freud / W1IsS



28) The Expectancy Theory of motivation states that: / R0 & Rgid # sgdar 8 f&:
1. People are motivated to do things due to external rewards. / TREPR ¥ Sfad B B & oy Uied B 1

2. There is a hierarchy of needs in each individual. / TP Afdd H el Bl T YUglshH ﬁ?ﬂ%l
3. There is a desire in a person to become what he is capable of becoming. / ft afd & 98 571 &1 5= 8Kl 8 S 98 &1 § Jem g
4. Motivation depends on the desirability of the outcome. / 3IfHURUT TR Pt 3571 R Rk FRaT 81

Correct Answer :-

« Motivation depends on the desirability of the outcome. / 3ifYDRUT TRUTH B 35T R AR FRa1 B

29) Teaching in an inclusive classroom is a challenge for teachers and demands certain ./ A=A wem A T,
Rrerel & R v AN @ o g9 Afa wu P ATIRIHAT 8

1. Habits / 7gfd

2. Talent / Tfaur

3. Expertise / Q&dl

4. Practice / 31N

Correct Answer :-
» Expertise / Q&dl

30) is found to be effective at achieving conceptual change. /
I Farie afader urod Fte & gard g T |

1. Reading textual materials/ OT& TR 3¢l YoTTelt

2. Labs / JIIITRITET

3. Discovery learning / %‘Hﬂ"ﬁ!ﬁ 3T

4. Detecting an anomaly / T T UaT S9T=T

Correct Answer :-

« Detecting an anomaly / TG T GAT ST

Topic:- General Hindi (L1GH)

1) & QA= T F41 g, AT YgT hel q@l g
HEA FT HAT WG TAT, T YA 3T 6T AT

3T T Soard FN, G aoTFT 96 T It

T Fgd & ® AT, I g FF 3w, FE A

e 3 97 AT ¥ IBY, TW o § FHEAC T

I & 3EH Fo AT TW, T A I Fo R @
a a1 F41, a a1 G, 7 @ 3R A 3o A
&F W AT & °el Y, ¢80 0F a9 § R o
&= frgae i g #, Fases qeeR WR T

& 0F el W W, o FWHAAT F AR T

& A W, wwEa Wea, A s W ga AT IH
& &9a €9 e Tgl, g A e @R 9«

HT 9T 3R AT AT, TG E FFA are

T Y 99 ¥ 3R TG99, §H AN Seua A3 9o
3TFT YA F UGA A qF I qTe YT FT el qq$TI



9eeT: ‘FH Al Y FT gAY ¥ FR FT FAT aed &7
1. 30 e |2 g

2.9 A B # ST B

3. gU-g@ &I 3R PIS GHEG el TS B

4.9 W & H AFT T o

Correct Answer :-

« 304 dat @@ g

2) A diamEt Y FAT g, AT TGl T q@l T
AEA FT A WT T, §H YA 35 e g

3T AT Soard F, G aoTFT TF T Y

¥T Fgd & ® AT, N g FF 3w, FE 9@

fFe 3N TA? A9 ¥ qEY, T Goen § sufAT a9
I & 3uH Fo AT 99, I A I9n Fo Re a7
& a1 F41, & a1 g, 7T @ 3R A 3o e
oF W YE-T F °9el N, 77 0F A9 § Ao o
& el $ gfaar A, Taoes e WR a9

& U& el 3 W, o FAwedr # AR 9

& 7 R, A Wa, S X AW gaRT dF gH
& gua gud I Fgl, woit Ay A §R ae

T I 3R WA F, R W@ FFS a

& @Y 99 ¥ 3R @Y, §7 AU qe U a1F T
3U4FT I F YGH A q@ S AT G F 3ca} Iqsvl
W FA & HqAR dae FH e 82

1.5 Rem & ReR 8 ¥

2.5 AT-91d " B

3.9 W Ee # e @ B

4.3 T gE@ H 3T W@ B

Correct Answer :-

. S & e 7 aed wa E

3) & g f F91 g, AT T@T bl qEl T
AEN FT HTGA WY TA, A YA 35 @I T
T T Seard Ff, A aoTHT § To el

T Fed @ T AT, N I F{ AT, Fel TS

fre 3R T@? #d F @), W g ¥ AT T
ST { 3HH FS AT @, T F A9 FO R a°
a aTT Fd, & a1 g, 9 & 3R AR 3 Av
&F W AT & °del N, ¢7 0F 0T § Ru ao
& frawat # gfaar A, TEes e WR T
T F Ul W W, o FWEA F AR T

& A Wea, e Wa, Ao W gaR dF I
# gaa §ua Jrer Feh, WO Ay Al R AW



HT 9T 3R AT FAT, TG WG FFA are

T T 99 & 3R w9, § IO qeu a1 9

3UGFA TSI F GGHT AN IF T AT TR FT el qATSTI
veoT: e o g 3R g@ A ¥ g F o {2

1. SRT-|1 O

2. BFa AR 7 o

3.gan & e

4, STEX H RE

Correct Answer :-

. TH AR AT AR

4) & amt A FA g, IS T FA q@ TS

AEA FT A WT T, FH YA 35 @ qH

3T FAFT Soard FY, G aoTFT 9§ T Y

¥T Fed & ® AT, N g FF 3w, FE 9@

fh 3R T@? A9 A @), §9 oo § FEOC T

I & 3EH Fo fAT 99, T A IO Fo R a7

& a1a F41, & a1 g, 7T @ 3R A 3o Av

oF W YE-:T § °el N, 77 'F A9 § R o

& el $ gfaar A, Taoes e WR a9

& U& el 3W W, o AT # AR T

& A W, A Wed, S X I gaRT dF gH

& §ud gua I 7gl, woit A A §R ae

HT AT AR R F, AT @ TS A

& &Y 99 ¥ 3R @Y, §7 AU qe U a1F T

3ULFA TSI FY TgHT AN I T AT TR FT el ST
HeeT: ATA & S arer 92 A F Fur sg AL T SAEAr?
1. AT BT

2. & AT &l

3. 9HS HT

4. QAT @

Correct Answer :-

5) g Qaret Y FAT g, ST Tgl Fer q@l T
FEA FT AT WY TN, §H YA A A6 Ao
T T Seard Ffl, g a1 a5 T el

T FEd & E A, I G F{ 3T, FI w9

e T T4 7T T qBY, T9 g § sOfAT T
ST} 3HH FS AT @, T F A9 F R
a aTT e, & aT g, % & 3 A 3 Av
&F W AT & °gel N, ¢7 F a9 § R o
& frasat # gfaar #, TEees e wR T



T T fAUEl X W, oF FAEAAr F AR T

& AT IR, I WA, AR W gaA AT TH
T §O gHd TS Ten, WO Ay At R we

T 9T 3R WA FAT, IS W FFA arer

T T 99 & 3R w9, 5 3O qeu A5 9o
3UGFA TEHIA F GGHT AN IF T AT TR FT el TSV
geT: ‘FH TH @aE @ 3R W d F4 aed 32
158 @ P A

2. %69 W 3ifde s

3,33 & AL

4. S B Fedr

Correct Answer :-

+ % W AT B

6) & el Y FAT g, AT YgT FA q@l g

AEA FT A W T, §H YA 35 @I qH

3T T Soard F, G aoTFT 9§ T 7Y

¥T Fgd & ® AT, X g FF 3w, FE 9@

fh 3R Ta? A9 A @), §9 Telon § FEOC T

I & 3EH Fo AT 99, T A I Fo R a7

a a1a F41, & a1 g, 7T @ 3R A 3o v

oF T YE-T F °el #, 77 'F A9 § R o

& el $r gfaar A, Taoes e WR a9

T TF femll 3 W, & IWEAAr F AR TS

& A R, A Wed, S X AW gART T gH

T EU gH TS Teh, WO Ay A BN AW

T AT I WRET T, AT W IS A

& @Y 99 ¥ 3R @Y, §7 AU qe U a1F T

394FA TEHIA FY TGHT AN IF T AT WA FT el ST
weeT: Siiaet # AEh F9 gieeRE Fifad & qFHdr 82
1. had S AT THR FFET A o 3R wa

2. 5ae S 3T g@R BT AR 331

3. &ael SId 3T @ Al & e g B

4. 304F Helr

Correct Answer :-

7) &5 aret Y FAT g, ST TgT Hel q@l T
FEA FT AT WY TN, §H YA A A6 Ao
T A Seard Ffl, A oot a5 T el
T Fed @ T AT, N JA F{ AT, Fel TS
5 3R TA? A9 A @Y, T@ Tow § AT T

ST & 3WH TS AT T, T F 30T T Rw T



a a1 Fd, & a1 g, F & 3R R Fo Av

&F W AT & °el Y, §7 0F a9 § Ro o

&x frgae i gforan #, Faoee qeaR wR T

T 0F AUl W W, o FWEAAT F AR T

& AT IR, I WA, AR W gE AT TH

T §Od gHd TS Ten, WO Ay At R we

T 9T 3R WA FAT, HEIE W FFA arer

T TEd A ¥ 3R FEE, w9 IR aeue dis T

39GFA TEHIAT F GGHT AN IF T AT T FT el TSV
W A F T AW F a1g 3aF NS oAlT FAT F §?
1.4

2. feer

3. 70

4. 3HEE

Correct Answer :-

8) & diarAt Y AT g, ST FgT HeA gl TA
HEA FT HAH WG TAT, 7 YA 34 @1 Ao
3T FAFT Soard FN, G aoTFT 9§ T Y

uT Fgd & ® AT, I g FF 3w, FE @

e 3T Td? AT T qEY, @ T § sAfaT T
I & 3HH Fo AT T9, T B I Fo Re @
a a1 F41, a a1 g, 7 @ IR A 3o A
BF N GE-GT & Yol #, 8 UF 49 & Re a7
& Brawal $r gfaar A, Taoes e WR 9
& Us et 31X W, o AT # AR T

& A W, A WA, SR I gARR a7 IH
T gud gud e Fgl, woit fY Al §R ad

3 3T 3R W F2, IEg @ A

& T 99 ¥ 3R T9Y, §F IS Seua A5 T
3UGFA I F TgHT AN IF T AT TR FT el qATSTI
et & € W e e wgaa ¥

1. gl & e

2.8 1 a®

3. gl & TRE

4. SealrE HT dE

Correct Answer :-

+ Soold H W@

9) &X At A FAT gAY, HIST TgT Hel q@l T
AEA FT AT WY TN, § U A @ Ao

T qTF Seard Fefl, g aoTa a8 o I



T Fd & @ AT, 3N JA FH T, FEl TS

e 3T T 7T A q@Y, T@ g ¢ sufAT T
ST & 3HH FS AT T, T F I3UAT F e T
& a1 Fd, & a1 g, $ & R R Fo v
&F W AT & °el Y, §7 0F a9 § Ro ao
o frgae # gforan #F, Fasee qeR wWR T

T 0F AUl W W, o FWEAAT F AR T

& AT IR, I WA, AR W ga AT TH
T g0 &9 T T, won F A gR q

T AT I W T, AT W A AT

T T A9 ¥ 3R T, w9 IR aeue dis T
39GFA TEHIA F GGHT AN IF T qT ToA FT el ISV
weeT: da FE1 ¥ AT § ar e w72

1. 3T & e

2. ATHAT FHr &

3. 9@ & aWE

4, grd A RE

Correct Answer :-

. 3 A Re

10) &F o=l A FAT §EN, TS TgT Feof gl TS
HEA FT HAT WG TAT, T YA 3T @1 AT
3T AFT Soard FY, G aoTFT 96 T Y

T Fgd & ® AT, I g FF 3w, FE 9@

e 3 97 A A IBY, W o § FAEAC T
I 3EH Fo AT TW, T A I Fo R a7
a a1a F41, a a1 g, 7 @ 3R A 3o A
&F W AT & °el #, §7 0F a9 § R o
& Brawal $r gfaar A, Taoes e WR 99
T T fAUE 3T W, o FAEAar F AR T

& A I, IwEe Wea, A W gaR AT IH
& §Ud §ud IS Tgl, v Y Il gR g

HT H9AT 3R AT FAT, TG WG FFA are

T Y 99 ¥ 3R T, g7 A9 Seua A3 g
3UGFA I FY GGHT AN IF T AT TR FT el qATSTI
W 59 ugy 1 3R s qame?

1. AlT-FER

2. BIRIHEAT

3. QAM-3RH

4. qart g

Correct Answer :-

o SlaEr B gy



11) &X QA Y FAT gAY, ST Ter Fer q@l I
AEA FT AN WY TAT, & YA I el qA

T qAFT Seard Fol, Y T a7 Tor 37

T FEd & @ AT, 3N JA FH T, FEl TS

e 3T T2 7T T q@Y, 79 g § sHfAT T
S & 3HH FS fAC TA, T F IUAT F Rw T
a a1 Fd, & a1 g, F & 3R W Fo v
&F W AT & °el A, §7 0F a9 § Ro ao
&0 Brawat #r gfaar &, Taees e WR 99

& TS faemedl 3T W, o AAHdT F AR T

& A IR, I WA, AR T gaa AT TH
& &ua gua et Fel, wo Y Aol gR T

39 HU AN TR FAT, G W FFA aF

T TEd A9 ¥ 3R T, w9 IR aeue dis T
3YFT TG P TGH AN qF AW q A F 3ol qd30]
weeT: drarat F Rt a1 T FAr A gar?

1. 3TGRIBAT

2. Tl

3.5 & BIg G

4. Hellel

Correct Answer :-

12) & damet 1 F1 gFH, IS TgT FA TEH TS

HEA FT HAT WG TAT, §H YA 33T @1 AT

3T TAFT Soamd F, G aoTFT 6 T 7Y

T Fgd & ® AT, I g FF 3w, FE @

e 3T Td? AT T q@Y, @ T § sAfaT T

S F 3EH TS AT A, T F A9 FE R T

a a1 F¢1, a a1 g, 7 @ 3R A 3o A

&F W AT & °el Y, §7 0F o9 § Ro ao

&x frgae #r gfaan #, raoes qeeR wR T

& 0F fAemelt W W, o FWHAAT F AR T

& A W, IwEa Wea, A s W gAR AT IH

T E9 §Hd TS TeT, WO Ay ASh BN wW

HT 9T 3R WA AT, TG W FFA arer

T Y 99 ¥ 3R TG99, §H A9 Seua A3 9o

3UGFA I FY GGHT AN IF T AT TR FT el TSV
yer: St daW g ¥ 3 frelt sy o osft R e ¥
1. g-glad

2. FaT-dar

3. ABId

4. FITHE WR

Correct Answer :-



13) & QA= i F41 g, AT TgT T qEl T

AEA FT HTGAA WY TeA, §H YA 35 gT T

T A Seard Ffl, A a1 a§ To sl

T Fed & T AT, N JH FA AT, Fel TS

fre 3R T@? 7T ¥ @), W g ¥ T T

ST} SHH FS AT A9, T F A9 FO R

a aTT e, & a1 g, O & 3R A 3 Av

&F W AT & °el N, ¢ 0F a9 § Ro ao

& frawat # gfaar A, TEes e WR T

T F Ul W W, o FWEAT F AR T

& A Wea, e Wa, Ao W gaR dF IH

& &ua gua amer Fgl, ol Ay aeh §R T

HT AT AR WA FA, TG W IHA A

& @Y 99 ¥ 3R @Y, § IR Seue A ad

3U4FT TEIIT B UGH AN qF S A A F Il qq130]
WA 50 FAaT & FqAn et oft e F Fr F w1 A Rieeht 32
1. IoTd & &

2. 97 @ @l

3. 3IRH & &l

4, %k & AT

Correct Answer :-

o Tod e BT

14) X QA Y FAT g, ST Ter Fer q@l I
AEA FT AN WY qAT, & YA I el qA

T TAFT Seard Fol, Y T a7 ok 3

T Fd & @ AT, 3N JA FH T, FEl TS

e 3T T2 7T T q@), T9 g § sHfAT T
S & 3HH FS fAC TA, T F I3UAT F Rw T
& a1 Fd, & a1 g, $ & AR A Fo Av
&F W AT & °el Y, §7 0F a9 § Ro To
&x frgae # gforan #, Faoee qeR WR T

T 0F AUl W W, oF FWEA F AR T

& A IR, I WA, AR T gaa AT TH
T G0 §UA Mo T, won HY At gR q

T AT R W T4, AT W A a

& T 99 & 3R w9, § IO Teu A5 a9
IYFT TG BT TGHF AN qF A a A FT 3ol qd30]
geeT: oY el 9 B ¥ § FEUR ¥ FAT S @A 872
1. -1 T &

2. 3 ASTh A

3. Il A



4.30 dd € 3o ad ¥

Correct Answer :-

. g5 o ¥ 3o A ¥

15) &X At Y FAT g, ST Ter Her q@l o
AEA FT A WA TA, §H YA 35 @I qA

T AT 3eard Fol, Y 9T a5 Tor 37

T Fd & @ AT, 3N JA FH T, FEl TS

e 3T T2 7T A q@), T9 g ¢ sufaT T
S & 3HH FS AT T, T F I3UAT F e T@
a a1 Fd, & a1 g, F & R W Fo v
&F W AT & °el Y, §7 0F a9 § Ro ao
&x frgae i g #, Faoee qeaR WR T

& TS faemedt 3T WX, o IAHedr F HX T

& A IR, I WA, AR T gaa AT TH
& &ua §ua Jrer Fgl, wo A Aol gR T

3 HUA AN TR FAT, G W THA aF

T FaF 99 ¥ 3R T, g AuA Seud A3 T
394FA TEHIA F GGHT AN IF T qTS ToA FT el ISV
W Fa F FIH A F FoaAw AR T F AHY T F qTF AT FA FET 87
1. Tee oo @1 3R TR g@ & e &

2. 38 §:W Fodl e &

3. 369 S S e ¥

4. 388 AT A& THar ¥

Correct Answer :-

- e seemw &1 AR fove g@ @ Ul R

16) foradt oft wumer & Rt s aad, unfife wgera, faftm urars aug), faiftm Jwefoat siv sfaal @t e # 3w wu #t Ay $ga §1 3}
fafaerarat arar farsdt oft Tomer & faftr snfifes qads, nftfer wera, fafira urars agl, fRfte SRl ofik sfosl 3t Wiseh i 3 A o fafduar g &1
I fafearsit ardt 3% 3t a1d 3 SR @ YR | AgR SeTERI SR FIE TE1 8 WAt WRd A ghar F @ @it ger ol B we ard @ ed ¥ WRa ®
TR YTUTE, 3ERT-S(ERT W UTH, STT-3ET GRS 3R a8 9 BT UEpld 4@ &1 frad g1

rTeTe U SR Terifa: STfd & e e  Rigia & JgaR o waw fibe giar § 981 5731 35 uran 31 wgsal &1 fiiaT 87 & R o +u & west
FHI gl 81 3nffer aRaat A AT H a1 R UTe g ureT @1 3foery A ¥R S5s! Sarerv ¢ o anfife v & Tud e A anffe T | $HSIR e W I
foram| U1 Safer fovan SiTT AT aifer TaTeH 3R 2Rt & Hidl R THIRIPGR SIH & G | JrATRTS fafaar &1 Iemifa uR ufvomy i o o) fivk exar g, st
Frafafad 8: a8 39 a0 W AR oear & 6 @ sroft i uge &t foa u # a4 €1 afe @ ermm ey &Y fafry 7= wvrd € o) ¥R § arfore fafaear
B T=T YT G g S & | el fbdl THea #Y 7l @) g aie @ 3w o § | fhelt aye 3 wi R WeR $1 BN ufafhar gt 71 afe it we
Y AT B T P A AT ST 8 A 5/ eI T It 2

URE & Ui 30 & garfae o Sif srawyt g+ At S SR W &) 1 & SMYR R IR J4g! § aier a1 o1l {5 &1 var 781 @ & e wure & St
a1 i | e W Fiaa F T1y v i et ar qul caw faeiid g8 o 39 919 W snutiia € % [t safe o1 o i wnfa & g 81 sPish gova &
YUTd & BRUT 3R YR # 3 aTelt WHRI FT JgRare! Hifaat #t adiaa it F ¢ifires w sy Rigm &1 wraer 3o @il | 38 ramar wifsar A oft qurs
T ARREEal Ba &1 S [Fa1l 37 99 916l A DS U aFN & SRewdr ha &1 90eR 31 24971 39% TR 3@ 3@ & fira 3@ &1 98 59 919 9 uar
ol @ 7 &% TR &t a1 SWR BT AA A € oY St o1 & e &1 ANl $ &R vl ) T A ASieR) 31 € diddd $T 3l Haed g1 ¢ 1 3Tel HRd &
THTS & T &Y i &1 fafifia TR § 3@ &1 firedar 81 39T g6 o8 Iod ¢ & HRd 98! 4 § U9 dldpad a1 @1 81

IR TR B UgHY 1 I 7T YR $T I«iX gaTsu|

H: S1d & e faer & Rigia & IgaR, JuTe & B fiqr 8 urar 82
1.5 FGET B

2.5 gad e &

3.5 Gex @

4.3 HHAAR &



Correct Answer :-

. S TR e @

17) ot oft e & faftm e aad, unfife wgeray, faftm urars aug), faftm dwefoat siv sfaal @t e #) 3w wue #t Ay $ga §1 3}
fafaearsit aret 3= oY ara it I A WA W A5 SaTERv IR B T & WA HRa F gFrar & e Wt e ol @ AR ard Al ed ¥ wd # gt
YTHTE, STRT-3(ET W UTH, TT-3(ET U= 3R TRE I B Tepia 38 o fradht g1

TrTfoTe AU SR Terifa: S1fd & it e & Rigia & R St 9 e gar @ 98 Rier 38 urar 81 7gsal &) Rier 81 ¥ R snffe v d et
FHel g B1 e aRat | TS B ST T W 8t uran 81 sfaer # 09 Sws! Iereeur € R onfife U R WuA e A anffe wu A $Eek e W e
a1 T gEferd foran SITdT o1 @1fe TaTHA SR 2fed & Edl W) TR ST 8 §& | ArTire fafaedr &1 Ierifa ) afyom i ardf ® ek sxar @, st
frraferfad §: ag 39 91a W ik war & 1% @ ot T ueam &1 f5a =0 & 9 @1 afe @i o= 3y & fafRe a9= @ € & 89 A e fafaear
B T=T YT YR g STaT ¢ | el fbe Tgerd &1 7Rl & {5y ave § 0 avd 81 fhdt ayer 3 Ui R WeR 31 B0 ufafear gt 71 afy it wger
P G B W NP A AT AT € ) 59D AT qad Tl g

YR & Ui Tt & Garae St si1fa sgawyT gt <t 30 SUR TS S SR &b TR IR IR Jel & aier 741 471 35 &1 uar 76t § o st qume & St
a1 A | AfpT Tug Fiam F a1y v Wi ol a1 auf craw fae R g8 o 39 a1 W snutiva € o it safd o1 o i wnfa & gen 81 sRSh gpva &
YUTT F HRUT 3R HRA F 319 aTel TRPR] Bt SgRard! ifoal Ft adiaa sifte F siftre @i snyfe Riem &1 wraer I @it | 539 rarar wifsar A oft v
T SRR=wal o &1 B/ P11 37 99 9161 3 DS ¢ AR & SIReedT tha &1 THe@R 91 3471 3% TR 39 3@ & fird 3@ &1 98 39 919 9 uar
Tadr 2 f o2 08 &Ft Aa1 SWR B A M § oY S o1 F T &1 e F o) 9t ) T A ASier) 31 € didds BT el Haad gaT 81 e HRd A
THS & T Y a1 &1 Ul TR § 3@ &) frerdr ¢ 1 SHRIT g7 o8 Iod ¢ [ HRd 98! A1 § U9 dlepad a1 weT 81

IuaR] I F1 UGHR I U T UY BT IR a1zl

u=H: it Turer § faftm winfq, enf ok enf¥fes wge & vl ) o Bed 82
1. T T

2. g & fafagar

3. ATcgTEAT F AFH

4. AT =1

Correct Answer :-

o AT Fr ATATAT

18) it oft wure ¥ faftra anfdfes qads, enfifer wgera, fafta urars wgel, fafi WRpfaal oiik sl 3t diceht w1 3w ue & fafauar ogd &1 afe
fafaeraraif ard 31 1 919 F WA @ YR T TR ISTEVT SR B A1 81 FpaTl WRd | grar & TRt Qaft 4ar ot &1 WA a1d @R IEd 81 URd | gRT
YTYTE, SERT-SEAT W UTH, SET-3ET GRS 3R a8 O &1 Twpld 4@ & fradt 81

rTeTe T SR Terifa: STfd & e e & Rigia & rgaR o wed fibe giar § 98! a1 35 uran 81 wgal &1 fiiaT 87 & R onfife w0 & west
F! B 81 e ARt | WIS | e RIH U 6 uraT 81 sfoer # 09 Aws) Iereevr € R onffe w0 R WU e A aiffe wu Ui e W IRE
foram| U1 Safer fopan ST AT aifer TaTeE 3R MRy & w6l IR THIRIPR SIH 8 G | IrATTe fafdar &1 Iemifa uR ufvomy @i g o) fivk sxar g, st
fFrafafad §: a8 39 9 W AR oear & 5 @ srot I uge &t f5a 0 # 9 €1 afe @ ermm 3y &Y fafiy #rm e € of ¥R § arnfore fafaear
B T U IRl €Y SITaT € | It fplt T 1w Bl {6 ave @ U e ¥ e wer #Y #1iv R Wer Bt S ufafpar @t 21 af fed wuen
P AT B Y TP A AT 16T & o S/ eI FId a1 2

YRE & YA 30 & Gariaes o Sif eyt a1 At S SR WT &) 1 & SMYR R TR JUg! § dier a1 Tl {5 &1 uar 781 @ & et wure & St
a1 f | e wug o & a1y v Wit el ar qof e fawRia g8 o 39 99 wR snutfia @ % 6wt safdy &1 o i wnfa & gen 81 sPieh goua &
YUT & BRUT 3R YR F S aTelt IWPHRT T IgRaE! Hifaal ot adiaa it F siftre wT sy Rigm &1 wraer S @il | 39 rarar wifsar 7 ot qur
N ARREHdT Ba™ T S fFa1l 377 99 916l A DS U ai & SRewdr ham &1 90e@R 31 a1l 39% TRy 3@ 3@ & fira )@ &1 98 39 919 9 uar
Iadr @ fF &% W g a1 SR B A M & S Sl o & T & | oW & &X O o) I # WrSierR) 3T € dieds o el Hadd BT @1 S HRd |
TS & T &Y i &1 yfafifia TR § 3@ &) firerar 81 39RIT g0 o8 Iod ¢ & URd 98l iaH § U9 didpad a1 @1 81

SUY T P UGHT ) T T U $T I} gars|

u=H: e U | voigd Iug, e U | FHHUR TUE W T 6T 82
1. gs-faufRor

2.5 60

3. QA

4. AR

Correct Answer :-

19) Tt oft e ¥ fafdre enfifer aadp, nfifer wyerat, fafte wrars Tggl, faftme SRpfaat ofik sfeal Ft dieht #1 S0 Twe &Y fAfyuar w8 &1 afe
fafauarait aret 3= &} a1a BT S A YR X IR SATER R BT TE 81 FHaTl WRA A gFaT F T wft g uel B A et T Xed 81 WRA A geIRy
YTYTE, STRT-3(EHT W UTH, TT-3ET U= 3R TRE I B Tpid 48 & fraedt g1



T U SR Terifa: ST & e e & Rigia & rgaR o wad fibe giar § 38! a1 35 uran 81 vyl &1 fiiar 87 & R o a0 & west
FE! B 81 e ARt A WS ® e RIH U 6 uTaT 81 sfoer ¥ 09 Aws) Iereevr § R e w0 R WU 1 A anffe wu A ek e W IRE
foram| T Safer fopan SiTaT AT aifer TaTeA 3R MRt & widl IR THIIPR SIH & G | JrATTS fafdear &1 Iemifa uR ufvomy i g o) fivik sxar g, st
fFrafafEd §: a8 39 91d W 1Rk ear 8 % Rt sroeit arfore veae &) 59 o d ad €1 afe @ oA 3y ) Ay ae @ § f 39 § o fafaearn
B T U iR el €Y ST € | It b TR 1 AT @1 fb ave @ U e ¥ 1 fed wer #Y H1i R Wer Bt S ufafpar @t 21 af fed wuen
P AT B T P A AT 1T & o S/ eI AT It 2

YRE & YA 30 & ganae Sl Sif eyt a1 At ST SR [T &) ST & SMYR R TR J4g! § dier a1 o1l {5 &1 uar 981 @ & et wure & St
a1 f | e W Fiaa F a1y v Wi el ar quf e fawRia g8 o 39 919 W snutfia € % [t safdq &1 o few wnfa & gen 81 sPish goua &
YUT & BRUT 3R YR # 3 aTelt IWPHRI FT IgRard! it st adiea siftre F sifire wvT sy Rigm &1 wraer S @il | 38 rarar wifsar 7 oft qur
T ARREHaT Ba &1 S [Ba11 37 99 916l A DS U aN & SRewdr ha &1 90eR 31 34aT1 39% TR 3@ 3@ & fira 3@ &1 98 39 919 9 uar
m%%aﬁﬁﬁmﬁmawmmm%ﬁwaﬁ%qﬁﬁ THTS & & & B FA1 & GrEGR) 3T &) Apda BT STl Aaord gid1 21 STl HRd &
THTS P AT & ¥ &1 Ufafificd TWpR # $TA o1 fiyear 81 3afiT 9 o8 Iod § f5 HRa 98! 71 § te diedd S8 8l

IUGEH T P UG A1 I T YA BT S IaST
UL M RaP! | T B Fel FHa1 A frear 82
1. 9 3

2. H

3. 9T #

4. P8 H

Correct Answer :-

o FIATST H

20) Tt oft e § Rl enffer aadp, enfife wqemat, fafte wrars g, faftm Sepfaat ofik siferal 3t dierht #f S Twme &Y fafyuar #ga &1 afg
fafaearsit are 3= oY ara it I A WA W J5R SaTERV IR B T 8 WAl HRa F gFrar & e Wt e ol @ AR ard Al ved ¥ wRd # gt
YTHTE, SERT-3(ET W UTH, TT-3(E U= 3R TRE a6 B Tpid 38 o fraed g1

TrToTe AU SR TerHifa: ST & it e & Rigia & R St 9 e gar @ 98 Rier 38 urar 81 7gsat &) Rier 81 & R snffe v d et
Tl g B1 e aRaet & TS | ST R Wi 8t uran 81 sfaer # 09 Sws! Iereeur € R onfife wu R WuA e A anffe wu @ $Eeik e W IR
foram| T gaferd fovan SiTaT o1 a1fe ST SR 2fed & Hdl W) TPIIUeR ST 8 §& | ArTire fafaedr &1 Ierifa w) afyom i ardf ® Rk sxar @, st
frrafeafad §: ag 39 919 W ik war & 1% @ ot arTore ueam &1 f5a =0 & 9 @1 afe @i o= g &) fafRy a9= @i € & 89 A gt fafaear
B T=T YT YR g ST 8 | el [B Tger 31 7Rl & {5y ave § 0 o 81 fhdt Iuer 3 Ui R WeR $1 B0 ufafear gt 71 afy it wer
P G B W NP A AT AT € o 59D Ao qad Tl gl

YR & Ui ot & garfae St oi1fa sgawyt gt <ft 39 SaR TS &1 SR & TR IR IR Jel & aier 741 471 35 &1 yar 76 § o groamdt qure & St
a1 A | AfFT Tug Fia7 F 1y v Wi ol a1 aul e IR g8 o 39 a1 W snutiva € % it safd o1 o i wnfa & gen 81 sRSN gpva &
YUTT F HRUT 3R URA F 317 g7l PRI Bt IgRard! foal 3t adiaa sifte F siftre @i snyfe Riem &1 wraer I @it | 539 rarar Wifgar A ot wurs
T SRR=wal Ba &1 B/ fHa1l 39 99 161 3 DS ¢ AR & SITReedT tha &1 T0@R 91 3471 39% TR 39 3@ & fird 3@ &1 98 39 919 9 uar
Tadr 2 f o2 08 &t Aa1 SWR B A 9 § oY S o1 F T ¥ e F o) 9t ) T A S} 37 € didds P e Haad gaT 81 e HRd
THS & T Y a1 &1 ufaf i TR § 3@ &) frerdr ¢ 1 3HRIT 81 o8 Iod ¢ [ HRd 98! 741 § U9 dlepad a1 weT 81

ITR T B UGB ) I T U= HT S ga13¢l
UL IGRAE! Hifoal @1 sdied iftre-A-3ife @l feaeT wragr SeM wi?
1. URFURH et

2. Ui egaEaT

3. 3y e
4, 3T carar

Correct Answer :-

21) Tt oft e ¥ Rl enfdfes qads, enfifer wgera, fafta urars Teggl, fafi wRpfaal oiik wfeal 3t diseht w1 3w ue & fafauar ogd &1 afe
fafaeraraif ard 331 1 919 F WA d YR T TR ISTERVI R B A1 81 FhaTl WRd | irar & TRt qaft 4ar ot &1 WA a1d @R I8d 81 URd | goRT
YTYTE, SERT-SEAT W UTH, SET-3ET GIRNH 3R G ae &1 Twpla 4G &) fradt 21

e T o Terifa: S1fd & wive e & Rigia & rgaR o wed fibe giar 8 38! a1 5 urar 81 vyl &1 fiiar 87 & R onffe w0 & west
FE! B 81 e ARt A WS ® e RIH Ut 6 uTaT 81 sfaer # 09 Aws) Iereevr € R onffe w0 & WU e A aniffe wu d $Uei e W IR
foram| T 3o faran SiTaT o1 a1fe TaTeE SR =fd & W6l WR THIIUSR S0 8 IF | g fafauar &1 Ierifa wR afvom 6 amaf ® ik sar @, st
fFrafafad §: a8 39 a0 W AR owar & & @ st I e &1 f5a 0 # 9 €1 afe @ o= 3y &Y fafig #rm e € o ¥R § arnfore fafawar
B U= U YRpd §) AT ¢ 1 ear fht Tyera @ 7l 1 oy ave | Uk B 7| 75 ayer @Y 7t R WReR @ it ufafear gkt 81 afe it wger
P AT B Y TP A AT 16T & o 3/ eI A9 a1 g

YRA & YA 3 & gariae o Sifd eyt a1 At S SR WU &) $1d & SMYR IR TR Il § dier 741 Tl {5 &1 uar 981 @ 7% et wure & St
a1 f | e W Fiam & a1y v Wit el ar quf e fawRia g8 o 39 99 W snutfia € % et safd &1 o few wnfa & gen 31 sPieh gova &



YUTT F HRUT 3R URA F 319 aTell PRI Bt IgRard! foal 3t sdiaa sifte @ siftre aiv snyfe Riem &1 wraer I @it | 539 rarar Wifgar A oft v
T SRR=wal o™ &1 B/ P11 39 99 161 3 DS ¢ AR & SIWReedT = &1 TH@R 91 3971 39% TR 3@ 3@ & fird 3@ &1 98 39 919 9 uar
W%%ﬁﬁaﬁwﬁmawmwm%vﬁwaﬁ%ﬂﬁﬁl THS & g T B T § ARt 31 @ didbda ST el Aaad gid1 81 el HRd §
THS & T Y a1 &1 ufaf i TR § 3@ &) frerdr ¢ 1 SHRIT 81 o8 Iod ¢ [ HRd 98! A1 § U9 dlepad a1 el 81

ST TR Y TR R TR Y U $T IR q@gy
w: Wi A v & Fan e &1 w1 @2
1. {THG dred

2. TqTsdl

3. STITEehAT

4. HIATTSTRAT

Correct Answer :-

22) Tt oft e ¥ faftre enfdfes qads, enfifer wgera, fafte urars Tgel, fafie Repfaat oiik sl #t diceht w1 3w Twe & fAfquar wgd &1 afe
fafaeraraif ard 331 1 919 P WA @ YR A TgAR IV SR B A1 &Y FPaTl WRd A grar S TRt Qaft gRer o 1 WA aTd @R IEd 81 URd | gRY
YTYTE, SERT-SEAT W UTH, STRT-3ET GRS 3R G 9 BT U&pia 4@ & fradt g1

wrTReTe USSR Terifa: ST & e e & Rigia & JrgaR s wad fibe giar § 81 Sia1 38 uran 31 wgsal &1 fiiar 87 & R o wu & Wt
FH gl 81 s aRae A AT H a1 T U g ureT @1 3foer A ¥R Shs) Sarerv ¢ o anfife v & Tud e A anffe U | $HSIR e W I
foram | U1 Safer fohan SiTeT Ut aifer TaTeH 3R MRt & Hidl R THIRIPGR SIH &l G | JrATHTS fafdar &1 Temifa 9= ko @i o) o) fivk sxar g, st
Frafafad 8: a8 39 o W AR owar 8 6 @ sroeft 9 uge @t fa u # 9 €1 afe @ o= ey &Y fafrg 7= v € o) ¥R § arfore fafaear
B T=T YT G g S & | el fbdl THe Y 7l @) g aie @ 99 e § | fhelt aye 3 w9 R Wer $1 HA ufafhar gt 71 afe it wem
Y AT B T dEP A AT STET @ A S/ eI AT It 2

URE & Ui 30 & garae o Sif srawyt -1 At S SR WIS &) 1 & SMYR R IR J4g! § aier w1 o1l {5 &1 var 781 @ & e wure & St
a1 f | e wug Fiaa F 1y v W wfa a1 qul caw fawRid g8 o 39 919 W snutia € % [t safe o1 o i wnfa & g 81 sPieh gova &
YUT & BRUT 3R YR § 3 aTelt WHRI FT JgRard! Hifaat 3t aciaa siftre F sifires wiv sy Rigm &1 wraer S @il | 38 ramar wifsar 7 oft wure
T ARREHaT Ba &1 S BTl 379 99 916l 3 53 gU dRN & STRewdT - &1 90eR 31 2aT| 39% TR 3@ 38 & fira 3@ &1 98 39 919 9 uar
m%%wéﬁmﬁmammmm%ﬁmﬁaﬁ%ﬂﬁﬁ TS & & o &) T H ArEgR) 3T € APad T RIS Aaad giar 81 3TeT YR o
THTS & T &Y i 1 i TReR § T@A o) firerar 81 39RIE g0 o8 Iod ¢ & HRd 98! A § U9 didpad a1 @1 81

Iude TR B TghT A TD T U PT S TaTs¢
u=: afe forelt ayera &) 4 B 9t a6F A THET ST 3 @) 39 A /T I 32
1. gYyy

2. {del

5 g
4, ZRTAT

Correct Answer :-

23) foradt oft e & faft anffe aads, unfife wgeray, faftm urars aug), faftm Jwefoa oiv sfaal @t dieeh &) 3w wue #1 Ay $ga §1 3}
fafaeranalt ard 321 &5t 919 o 9 A YR A IgR ISTERVT R B TE1 8 APa1| YR F g & Ty Wt qRer ol o W AT @ ved §1 WRa # geRt
YTYTE, STRT-3(EHT W UTH, STT-3ET GRS 3R TRE 9 B Tpid 38 & fradt g1

T AU SR TerHifa: S1fdA & it e & Rigia ¥ R St W e giar @ 98 Rier 38 urar 81 7gsal &) e T8 & R snffe v § et
FE gt 1 anfifer araY | waTe F e W U € uran 21 3foer # 09 Swsl Ierevv § R onfife wu @ Wud e 7 onffe U A $ueik e W IRE
a1 T gaferd foran SiTaT o1 a1fe ST SR =fdd & Hdl W) TPIIUeR ST 8 §& | ArTore fafaedr &1 i ) afiom i araf ® Rk srar @, st
FPrafifed € g 39 ara W 1R $ear @ 6 a aroeht arnfre uger &) {6 w0 § 9 €1 afe @ A omu ) ARy arm wd § o 38 & gt fafdear
B U= YT GiRpd g ST ¢ | el fh Tger 31 7Rl & {5y ave § 0= & 81 fhdt Tuer 3 Ui W IR 31 B0 ufafear gt 71 af it wer
P T B T T D 7T AT R A S0 Ao qad a9 21

YR & U= 94l & Garfae i Siifa oqawdt 9+ Bt ST SR WATe @) S & YR W IR G9! § aier 71 o1l {5 &1 var 78 @ & goand wure & it
a1 N | AfFT Tug Fiam F 1y v Wi ol a1 auf e faw R g8 o 39 a9 W snutiva € % it safda o1 o 5w wnfa & gen 81 sRSh gpva &
YUTT & BRI 3R YR F M arelt WHRI F1 IgRard) Hifaat o5t siaa oifte F eif¥res v sy Rign &1 wraer Som @it | 39% srarar Hifsar 7 +ft wars
T IRR=wal o &1 B/ P11 39 99 9141 3 DS ¢ AR & SITReedT = &1 THR 91 3971 39% TR 3@ 3@ & fird 3@ &1 98 59 919 9 uar
ol ¢ fr oS U &g Ad1 SUR DX A A S e Sfifa & e &1 THIS S & a¥ B Gl A ArHgR) 3T € Sibdd BT ST Herord giaT 81 TSl HRd A
THTS & T Y a1 &1 Ui TR § 3@ &1 frerdr &1 9RIT 80 o8 Iod ¢ [ HRd 98! A1aH § U9 dlepad a1 @1 81

Sude TR P UG A9 IS T IR $T I@R IS
U gfe dRT a9 3y Y Ry A @ @ @ | @ | U & 82
1. TR TRl



2. 3T HUeadT
3. grATTees fafayar
4, g e

Correct Answer :-

. grATforep fafaear

24) ot ot wome & Rt anffe aad, urftfe Tgera, fafte utars awg), fftm dwefeat siv sfaal @t deeh #) su wu # Ay $ga 81 3}
fafauaraif ard 331 1 919 F TR 9 YR T TR SISV R B A1 81 FHaTl WRd | gram & TRt Jaft T=r ot &1 WA 91d dRTIEd 81 URd | gaRT
UTHTE, S(ERT-3(ERT W UTH, 3AT-3AT U= 3N avE e Bt Gpfa o &I fradt 81

T s ok Teifa: 1A & witre e ¥ Rigid & 3gaR st qed fve gla1 € a8t Rigr w8 urar 81 agwl & Rier w81 & R onffe & @ waat
FH gl 81 ffer Rt A A W a1 I UTe &) uTal 81 3faer A T Shs! 3rev & o anfifes 0 @ Tud e J anfie U | HHSIR ¢ W AHA
foram| T gaferd faran SITaT o1 @1fe TaTYE 3R 2fad & Ed) W) TG R STaH 81 G | FriTire fafaedr &1 Ierifa w afom i ardf ® ek sxar @, st
fFrrafafad §: a8 39 a9 W AR oear & & @ st I g &1 59 0 # 9 €1 afe @ ermm 3y &Y fafkiy 7A@ € of ¥R § arnfore fafaear
B T=T U YR g e | el fbel THed & 7l @ {59 ave ¥ 0w wvd 81 fhlt ayer 3 ui R WeR #1 HA ufafear gkt 71 afy it wer
Y 7 D) FE TP & AT ST @ o SHA SIS ool g4t 2l

YRG & YA 34 & garfas o Sifd saawdt a1 At S SR T &) $1d & YR IR IR Il d dier 741 Tl {5 &1 uar 981 @ 7% yreendt wure & it
Frawy1 At AT g e F wry T W Sl o ol e e g€ w53 a1 w snnia € o it safd &1 9w v wnfa & gen @1 oifsh gpua &
YU P HRUT 3R HRA F 319 aTell PRI Bt SgRard! ifoal 3t adiaa sifte F siftre @i snyfe Riem o1 wraer I @it | 539 rarar Hifgar A ft wue
T SRewar bam &1 & BT 39 99 916l A s g @l & SReedar ham &1 9HPR 3 011 $9F TR 3 3@ &I frd W@ &1 78 g9 aa | uar
m%%ﬁﬁ%%awmmﬁm%aﬁﬁm%qﬁ% TS & & a1 DI G A WISER] ST €1 wilebeil BT Sel Faed ghar & | 3Tsl WRa &
AT F T &R T 1 glafifieg TReR & @ o1 fraan 81 safe 59 o8 Iod § 5 yRa 98 urm ¥ v diedd 99 @171

IuY TR F1 UGHR I U T YR $T I} gargu|

TH: HHIYA IR AR F Hidl W PSR F T Feigy AP FHASGR W 6T ST 32
1. JTET ¥

2.3 ¥

3. fAYs ¥

4. T HUA §

Correct Answer :-

. T BT §

25) Tt oft e § faftre enfdfes qads, enfifer wyera, fafte urars Tgel, fafie TRepfaat oiik el #t Wiceft w1 3w Twe &Y fAfyuar g &1 afe
fafaeraraif ardl 321 1 a1d P WA @ YR A TR IS0 R B A1 8 paTl WRd | grar & TRt Qaft gRer ot 1 WA aTd @R I8 81 URd § gRY
YTYTE, SERT-SEAT W UTH, STRT-3ET UIRNE 3R G 9 BT U&pld 4@ & fradt g1

Tt fuTe SR Terifa: STfd & wive e & Rigia & JrgaR o wad fibe giar § 81 Sia1 8 urar 31 vyl &1 fiiar 87 & R’ o v & Wt
F AR 1 e et |/ THIe A Srar R T §) uren 81 sfer ® ¥ das) Sarervr € i onffe Fu A Wud e 7 onffe R $HeR e W I
foram| U1 Safer fovan ST Ut aifer TaTeH 3R 2fRT & Hidl W THIRIPGR SIH &l G | JrATRTS fafdar &1 Iemifa 1R ufvomy @i g o) vk sxar g, st
Frafafad 8: a8 39 o W AR owar 8 6 @ sroeft I uge @t fa u 7 9 €1 afe @ ermm e &Y fafrg 7= ora € o) ¥R § arfore fafaear
B T=T YT G g S & | el fbdl THe $Y 7l @) g aie @ Iw wd § | fhelt aer 3 7 R WeR $1 BN ufafhar gkt 71 afe et we
P G B T TP F AT AT € ) 3HQ AT TG T g

URE & Ui 30 & garfae o S eyt -1 At S SR WIS &) 1 & SMYR W TR J4g! § aier 71 1| {5 &1 var 781 @ & e wure & St
a1 f | AfhT g Fiaa F T1y v W wfa a1 qul cgaw fawRid g8 W 39 919 W snutiia € % [t safd &1 o fw wnfa & g 81 sPieh gva &
YU & BRUT 3R YR # 3 aTelt WHRI FT JgRard! Hifaal ot adiaa siftre F Sifires w sy Rigm &1 wraer S @il | 38 rarar Wifsar A oft wurs
T ARREHaT Ba &1 B BTl 379 99 916l 3 53 g¢ AR & STRewdT1 tha- &1 90R 31 29Tl 39% TR 3@ 38 & fira 3@ &1 98 39 919 9 uar
m%%aﬁfﬁﬁaﬁuﬁmammﬂmﬁm%ﬁhmﬁm%ﬂﬁ% A & R T &1 T F AR 1§ Apda BT SR Taad giaT 31 e URd &
JHTS P T & 991 BT Ufafiftrd SRR § @ P Ferdr 21 SHIE gH $8 Tod ¢ 1 YR 98l AA # T diddd a7 8T gl

U T Y UgHR T D T YA BT I« I3

= Agel 31 fieT e & R snfife &0 3 o wen grar 82
1. AdEA

2. T

3. Riae

4. faera

Correct Answer :-

o OXaEhT



26) Tt ft wure ¥ faftre enfdfes qads, wnfifer wgera, fafte urars Tgel, fafie Repfaat oiik sferal 3t diseht w1 3w ue & fAfauar wgad &1 afe
fafaerarsit ara 32 3 a19 B I @ YRT ¥ IgAR IETERV SR B T 8 THA1| R A AT S T W g ol 6 AR are @ Y § 1 IR B geiRt
YTYTE, SERT-SEAT W UTH, SERT-3ET GIRNH 3R G O B T&pla 4@ & frad 21

T U SR Terifa: S1fd & e e & Rigia & rgaR o wed fibe giar § 981 a1 35 uran 81 vyl &1 fiiar 87 & R o +u & west
FE! B 81 e ARt A WIS ® e RIH U 8 uTaT 81 sfoer § 09 Aws) Iereevr § R e w0 R WU 1 A anffe wu A $ueik e W IRE
foram| U1 Safer fohan SiTeT AT aifer TaTee 3R MRt & Hidl IR THIRIPR SIH & G | JrATTS fafdar &1 Iemifa 1R ufvomy i g o) fivik sxar g, s
frafiafEd §: a8 39 91 W 1Rk Fear 8 5 Rt sroeit arfore ueam &) 59 o d ad €1 afe @ oA 3y ) ARy ae @ § o 39 § o fAafaearn
B T U iRl € 1T € | ISt o T 1 ATl B1 {6 ave @ U e ¥ e wer #Y |1 R WeR Bt S ufafpar et 21 afe fed wuen
P AT B T TP A AT 16T & o S/ eI AT It 2

YRE & YA 30 & gariae i Sifd eyt -1 At S SRR WIS &) 1 & SMYR IR TR Il § aier a1 o1l {5 &1 uar 981 @ 7 et wure & St
a1 f | s W Fiaa F a1y v Wi el ar quf aawn fawRia g8 o 39 919 W snutfia € % [t safeq &1 o few wnfa & gan 81 sPieh goua &
YT & BRUT 3R YR # S aTelt IWPHRT FT IgRaAS! Hifaa st adiea it F siftre wT sy Rigm &1 wraer S @il | 38 rarar wifsar A oft wur
T ARREHaT Ba &1 S fHa11 379 99 916l A DS U aN & SRewdT tha &1 90eR 31 29Tl 39% TR 3@ 3@ & fira 3@ &1 98 39 919 9 uar
TodT & b &% 8 &g Ad1 IUR X A S & S SN oifa b T &1 GHIS $ & o B T H GrEgR) T &) AbdA BT STl AT gia1 21 ST HRd A
THTS P T & ¥ &1 Uffificd TWpR # $TA o1 fiyear 81 3afT g0 o8 Iod § f5 HRa 98} 7 § te diedd S8 8l

IR TR B UgH 1 I 7T YR $T I«iX gaTsu |
UL HRATT AT & Y Tepfar fadt 22

1.

2. T

3. UHd

4, TE-aAE P

Correct Answer :-

o TE-AE H

27) ot oft e & faftm e aad, unfife wgera, faftm urars aug, fftm Jwefoat siv sfaal @t e #) 3w wue # Ay $ga §1 3}
fafaearsil are 3= o a1 it I A WA W A5 SaTERv IR B T 8 WA HRa F gFrar & e Wt e ol @ AR ard Al ved ¥ W # gt
YTHTE, STRT-3(ET W UTH, STT-3ET U= 3R TRE I B Tpid 38 & {21

T AU SR Terifa: S1fde & it e & Rigia & R St 9 e gar @ 98 Rier 38 urar 81 7gsal &) Rier 81 & R snffe v d et
FHel gt B1 e aRat & TS B a1 T W gt uran 81 sfaer # 09 Sws! Iereeur € R onfife U R Wud e A anffe wu @ $Eek e W IR
a1 T gaferd foran SiTaT o1 @1fe ST SR 2fed & Edl W TPIIUeR ST 8 §& | ArTire fafaedr &1 Ierifa ) afyom i ardf ® ek svar @, st
frrafefad §: ag 39 91a W ik war & 1% @ st T ueam &1 f5a =0 & 9 @1 afe @i o= 3y &) fafRe a9= @i € @ 89 A o fafaear
B T=T YT YR g STaT 8 | el fBa Tgerd $1 7Rl & {5y ave § 0 & 81 fhdt ayer 3 Ui R WeR 31 B0 ufafear gt 71 afy it wger
P G B W NP A AT AT € A 5UQ AT qad T gl

YR & Ui Tt & Garae St oi1fa sgawyT gt 2ft 30 SaR TS S BR & TR W IR Jel & aier 741 471 35 &1 yar 716t § o groamdt qume & St
Ry A | AfFT THg Fia1 F 1y v Wi ol a1 auf e IR g8 o 39 a1 W snutiva € % it safd o1 o i wnfa & gen 81 sRSN gpva &
YUTT F HROT 3R URA F 317 g7l PRI Bt IgRard! ifoal 3t adiaa siftre @ siftre @i snyfe Riem &1 wraer I @it | 537 rarar Wifgar A oft v
T SRR=wal o &1 B fHa1l 39 99 9161 3 DS ¢ AR & SITReedT tha= &1 TH@R 91 3471 39% TR 39 3@ & fird 3@ &1 98 39 919 9 uar
Tadr 2 i o2 08 &Ft 341 SWR B A 9 § oY S o1 F T &1 e F ox 9t ) T A ASier) 37 € didds BT e Haad gaT 81 3 HRd A
THIS & T &Y a1 &1 ufaf i TR § 3@ o) frerdr ¢ 1 3HRIT 81 o8 Iod ¢ [ HRd 98! #A1H § U9 dlepad a1 weT 81

UL T Y UG ) D T U P I« IA5¢

URH: YR & YT 30 & ganfas Si4-3 Fae s+t o2
1. TsgcTaean

2. e caeen

3. 3rdcgaEan

4. Sfa cgaEam

Correct Answer :-

. Sfa cgaEar

28) it oft wure ¥ faftrm anfdfes qads, enfifer wgera, fafta urars Tggl, fafi wiRpfaat oiik wiferal 3t diceht w1 3w ue & fafauar wgad &1 afe
fafaeraraif ard 31 1 919 F WA @ YR T TR ISTERVT SR B A1 81 TPl WRd | girar & TRt 9aft ey ot &1 WA a1d @R IEd 81 URd | goRT
YTYTE, SERT-SEAT W UTH, SET-3ET GIRNH 3R a8 O &1 Tepla 4T &) fradt 21

rTeTe TS SR Terifa: STfd & e e & Rigia & rgaR o wad fibe giar § 38! a1 35 urar 81 wgal &1 fiiar 87 & R onffe +u & west
FE! B 81 e ARt A WIS | e RIH U 6 uTaT 81 sfaer # 09 Aws) Iereevr € R onffe w0 R WU e A aiffe wu A $Uei e W IRE
foram| T 3o faran SiTaT o1 a1fe TaTeE SR =fd & W6l R THIIUeR S0 8 IF | g ffauar &1 e R afvom 69 amaf ® ik sar g, st
fFrrafafad §: a8 39 a9 W AR oear & 6 @ st I e &1 f5a Fu # 9 €1 afe @ o= 3y &Y fafiy 7rm e € o ¥R § arnfore fafawar



B T U iR €Y STdT € | It b TR 1 AT B1 fbw ave @ U e ¥ fed wer #Y H1i R WeR Bt S ufafpar @t 21 af fed wuen
P AT B T TP A AT 16T & ) S/ eI AT It 2

URE & YA 30 & Gariae o Sif eyt -1 At ST SR W &) 1 & SMYR R TR J4gl § dier a1 o1l {5 &1 uar 981 @ & et wure & St
a1 f | s W Fiaa & T1y v Wi el ar quf aaw fawRia g8 o 39 919 W snutfia € % [t safdq &1 o few wnfa & g 81 sPieh goua &
YUT & BRUT 3R YR § 3 aTelt WHRT FT IgRard! Hifaat st adiea it A sifire wT sy Rigm &1 wraer S @il 38 rarar Wifsar 7 oft qurs
T ARREHaT Ba &1 S/ BTl 59 99 916l A DS U aRN & SRewdT ha &1 90R &1 2aT1 39% TR 3@ 38 & fira @ &1 98 59 919 9 uar
TodT ¢ b &% ¥ &g A1 IUR X A S & o S oifa b e &1 GHIS $ & o Y T § GrEgR) ST &) Abhdd BT STl Ha@d gia1 21 STl YR &
THTS & T &Y i &1 yfaf i TR § T@A &) firerdar 81 39T g0 o8 9o ¢ & HRd 98! iaH § U9 dlepad a1 @1 81

IR TR B UgHT 1 I 7T YR HT I« gaTsu|

TR YR ® g & @ 3t ger 4wt oY aee ard e ved 7
T

2. g

3. 39T

4. qdiIE

Correct Answer :-

29) Tt oft e ¥ faftre enffer aadp, enfifer werat, fafte wrars Tggl, faftm Svpfaal oiik siferal 3t dieht #f S wme &Y fafyuar wga &1 afy
fafearsi ara 3z A a1a 3 IR @ YR | I5R ISR R B T 7 wwHar WRa A gfr F wru Tt g o Bt A 9 @ e ¥ WRd B gt
YTYTY, SERT-3(ENT W UTH, TT-3E U= 3R TRE I B Tepid 38 o {21

TrToTe AU SR Terifa: S1fde & it e & Rigia & R St 9 e gar @ 98 Rier 38 urar 81 77wl &) Rier 81 ¥ R snffe v d et
FH Bl 81 ifer aRat A A W a1 VI 9w o uTal 21 3fagr § T Sas! 3arevvr 8 Forad snfifes w0 @ Tud e J snffe U | HHSIR e W EA
a1 T gEferd foran SITaT o1 @1fe TaTee SR 2fed & Hd) W TR ST 8 §& | ArTre fafaedr &1 Ierifa ) aftom i ardf ® fak sxar @, st
frraferfad §: ag 39 91a W ik war & 1% @ ot g ueam &1 f5a =0 & o @1 afe @i o= 3y &) fafRe a9= @ € & 89 d o fafaear
B T=T UM YR g S1aT 8 | Aol fbat Tgerd #1 7Rl & {5y ave § 0 & 81 fhdt ayer 3 Ui R WeR $1 B0 ufafear gt 71 afy it wger
P G B W AP A AT AT € o 599 AT qad T g

YR & Ui ot & Gariae St si1fa sgawyT gt <ft 30 SUR TS &1 BR & TR W IR Jel & aier 741 471 35 &1 yar 76t § o groamdt qume & St
a1 A | AfpT Tug Fiam F 1y v Wi ol a1 auf e fae R g o 39 a1 W snutiva € o el safda o1 o e wnfa & gen 81 sRSh gpva &
YUTT & HRUT 3R HRA F 319 a7l TRPR] Bt IgRard! ifoal Ft adiad sifte F siftre @i snyfes Riem &1 wraer I @it | 539 rarar wifgar A oft W
T SRR=al o &1 B/ fHa11 37 99 9161 3 DS ¢ AR & SITReedT tha &1 TH@R 91 3aT| 3% TR 3@ 4@ & fire )@ &1 98 59 919 9 uar
m%%ﬁﬁaﬁuﬁmawmmm%ﬁﬁm%qﬁ% THS & g T B T § PR} 1 @ dibda ST el Aaad gid1 81 el HRd §
THS & T Y a1 &1 Ul TR § 3@ &) frerdr ¢ 1 SHRIT 86 o8 Iod ¢ [ YR 98! 741 § U9 dlepad a1 weT 81

ITS TR B TgHR A IR 7T U $T I« 9aTs|
URH: YR Tl AR § T 9 eT 82

1. Tk Jeiad

2. U s

3. Tk 3T

4. TH GgHAT

Correct Answer :-

o U dAlhdd

30) Tt o warer & fafte enf¥fer aass, anfife wgem, fafte uTars e, fafir wRepfaat ok sfarat &5t diserft »f 3w Tue @ fafauar wgd &1 afe
fafaeraraif ard 31 1 919 F WA @ YR F TR ISTERVI SR B A1 81 FpaTl WRd | grar & TRt Qaft 4ar ot &1 WA a1d @R I8d 81 URd | goRT
YTYTE, SERT-SEAT W UTH, SERT-3ET GIRNE 3R G O &1 Tepld 4@ & fradt 21

rTeTe U SR T STfd & it e & Rigia & rgaR o wed fibe giar § 38! a1 35 uran 81 wgal &1 fiiar 87 & R onffe +u & west
FE! B 81 e ARt A WIS ® e RIH U 8 uTaT 81 sfaer # 09 Aws) Ierevr € R onffe w0 @ W 7 A anffe wu A $Uei e W IR
foram| T Safer fohan ST AT aifer TaTeA 3R MRy & Hidl IR THIRIPR SIH & G | FrATTS fafaar &1 Iemifa uR ufvomy i g« o) fivik exar g, st
fFrafafad 8: a8 39 a0 W AR oear & & @ sroft i e &t f5d 0 # 9 €1 afe @ o= 3y &Y fafrg 7= wre € o ¥R § arfore fafaear
B =T U IRl €Y STaT € | ISt e e 1 | 1 fb ave @ U e ¥ 1 P wer Y "1 R WeR Bt S ufafear @t 21 af fed wuen
P AT B Y TP A AT 16T & o S/ SIS AT a1 2

YRE & YA 30 & gariae i Sif eyt -1 At ST SR [T &) 1 & YR R IR J4g! § dier a1 o1l {5 &1 uar 781 @ 7% et wure & St
a1 f | e W Fiaa & a1y v Wit el ar quf aawn fawRia g8 o 39 919 W snutfia € % [t safd &1 o few wnfa & g 81 sPish goua &
YUTd & BRI 3R YR § S aTelt PRI FT IgRaAE! i ot adiea it F ¢ifire wT sy Rigm &1 wraer S @il | 38 rarar wifsar 7 oft qur
N ARREHaT Ba T S fFa1l 39 99 916l A DS U a & SRewdr ham &1 90eR 31 aT1 39% TR 3@ 3@ & fira @ &1 98 39 919 | uar
woral § 6 % TR T a1 SR IR A M § S St onfa & T § 1 WS & &R vl Y e | WISl 31 € dipad BT SRvell Herad gl 81 3 YR #
TS & T X a1 1 U TR § 3@ o) frerdr &1 SHRIT g1 o8 Tod ¢ [ HRd ¥l 719 § U didas a1 w81 81



IR TR B UgHY 2 I 7T YR $T I« gaTsu|
w=: fafderarsit ardt 3w & forerer § UG &1 RF ®TE?
1. gfear

2. 3|

3. AT

4. e

Correct Answer :-

Topic:- General Sanskrit(L2GS)

Y 3cAfa sfa asceuey Qsfea: -



Yeliehl ufScar JNfAfeted ueeaed AgHca’ Fadd -

LSS ﬁa}’mﬁra?gmﬁ?r Wﬁmﬁgzl
AR gAGAT &7 FHaom ARGl
3egH: Ted 9 gfe: afFa: wwa: |
¥35d IF dcded dF &d: GGl

HAT FH: Tt AN ?

V"M dad T AGHT T AT T AT T8
g H 3T qdeh 3ed-
YSITRLICTh

3TATATH

Aifaerds
AR

Correct Answer :-

AFTLATH

? JTeAIRUHAIUN dichaayudsal: JTEA hius
31fEd-
3RUIHUS

1.

4.




‘I’ s ucay: 3Ed-

1 ? -

Ag
2. c



URTBE UiScal YT AGHH A -

qd: v gaear QR 3eafd | 3 fSes 3Red Tead| et e
el ARRIA|  FAET IFHAA dog: dNRT deedr: safed| Faiiy
gite: Smerfd| §de 3fed Tscar Uf@ioT weRd $died| lE:, Hdn:
TerRd o=ler: fafedded) gae: HgHen oo Jer e Ry
TR |

3o AT: BHET: Wellderel FAfeATT Wb va 3fcassied| o &iie sear
Ceddldel Shdfed| des] U Fcdl Tl Hdfed | desdedd $U €Alear
ferf>ae, STemTelish Hdfed| Tdcaedl o BEN: TUIS Yoled | IIEP: T
T & AT odlied | ALles FIET AU TaUs: #fafd| faeivd:
AISHRI AT IHEY: Hafd| T YT JETIoN SRTH A3ded |
FAET-HAIIA UTep HEATehTel: HATA| el SToll: TThRITAHET: 6

o

yfdfaaded| Tafeas T faeander: sy hsfed| Jar g3
TS BT daT ad Uehren: SOaoT: siafa| der rfeNea afy:
oafcd| T FaRy e 3eehR: TRRTd| der ATAIO, IO, 3ugsT,
Al T 3eURRUT JeBIfeari Teded| der ST Taufed]

: HYAEA YIleeTd TR
A

T
qdet:

1

2. o

3. ara
4.

Correct Answer :-



aRae afecar UeaE YEHe FaIad -
AR Totermell ‘ool 3 ot faariea | 3/eam: oo faeaed
faemerg IRy had | HRA U @il -HFES AL elec]
femeTar FoRr | TR AT ATH ToouEAH ScaHad | Yd STRETE,
dded JSIYAVN, dedeck T TolAdeiaral FArea s I T $TAd
USTETGAT 31e7a | 3MSTeieelAT: e 31T SHHT U= G 3feq: |
HCATATRAGeR-UehlATaIfdeIdad fohedles 3EATH ol FAIde>aHTHAd |
deT ATSCIAHATANT 3IHT [ AT 387d | 319 U9 HALTAH,
TSCUTdddd] I T: | heglITd ATHALT STHT [AUTHH |

3 QU T BfATOT a¢ fausid | 31 WU gelsiante Sl
dded | 3T IHAI: 3UR WA AgATAT TeRoreaaAed | Teh Yed=mg
Sfad AN AT Pl | 3T TGy TAY AEATA FAAN SAT
#fed - Fga-FaFs:, dlgEare:, UvsdEl giH, UdHgIHA, IFAGIH,
STATATESIEH, Tod-FHoaddleld 3G | AdY TAERY  Ioufcsiass,
qHEdAH, [dATHTAH, 3cANHATAHA, Tdlegddadd qﬁ%?—lﬁ AT
geecdlfel TN doied | fGoellee 3ieiehifel 3eamea 31T Ffea | Y
gragia @fed FIdT 36a10d, ARAGIRA (ST0ST 31T), dTelheRT 36T,
Fe AT 3eATH, faerea=Ta 7 3fd |

BECATA I B H F2 B R
1. 3
, ded,
3.

Fd
4 789

Correct Answer :-

1



Yoliehl afScar renfAféseed veaaed Ygecal Fadd -

AASd Addeddd Sdfead TREAdT TRvaH]
ATdTcHAS ARIAFET ATHGT RO JueH ||
FETUTAAR TelTChelch FaT-TAeT hleTsl
AN FHANFdD el JUT L PRV
HaI59 gRAeGed O dholdehUd O a;crmqfa'

Mo afafSedr fasrad aarers@for: |

ST aRss: THGd: ?

. AP

Correct Answer :-

W fEareer aanret SRETEIEE ITATET-

,, AENhd:
HNED I

2.



1

2)

URTIE IfScar TATT YGHCR I -

qF: verd qaear G 3eafd | e faees serd Tead st faemm:
IR ARMIT | GIET IPHEAT Tog: dRRT faeqedn: safed) aaify
gite: Serid | @d# 3fed gvear i@ @eRd ddfed| olE:, ol
oA GHA: fAfied| uae: HEAR oeuH e dy e
TR

SccTAT: BET: TsTdehel FAIGATd Uieh Ud 3fcasaied| o e dhear
Sedlds Hdfed| e AR $eal Tolld Haledd | deeledd S ATear
fopfzae STedrfes Hafed| Tdgseak & BN TUIS Tofed| FITH: T
T T AT lloc | Ao FATT TAT: T0S: efaid| faRIv:
AR AT IFET: $afd| T YIeT: &0 SRATH R |
QATET-HHAT, UTeh HeATehTel: #7afdl| dal STell: TahRITA=e: 6
ufafeiaded | vateas gad faeada: sHseay fisfedl Jer g3
EdTae eBfa del J&T gehren: dfavat: safd) dar e ufx:
#afdl| I warg o] 3feeshR: TR | dar AT, HINfor, 3uqeifs,
FATlel T hROT HEBIGA Teoct| dal STel: FUiod|

ety gite: war Smrfd |

Correct Answer :-



1

3)

URTE IfScar UReAET YA Jaad -

qF: veTd qaedr G 3eafd | 3y fawes 3erd Tead | st favemam:
IeUhR AR FITT NS Tog: dRRT faeqear: s@fedl ey
gite: Serfcdl §d# 3fqd Tvear uféion #oRd Fafed| old:, ofdr:
IeART A=A fafeied) uae: A goeud e Ey fag
TERAfd |

3ccdAT: BTAT: YTl FATGAT Wi Ta Sfcasoiod| d eiier shear
Codddel Shdfed| dee] CURITH Pedl Tl hdled | deededd $e €Aledl
ferf>ae, STemTAlicsh Hdfed| Tdgadedl o SME: TUS Yoled| TP
T T AT SHlloc | HeAog FATT 3TT: TAUS: s7dicd| TaRIvd:
ATeHRT AT ITED: $1afd| TeT II-aAT: J&TIoT SIATH AR |
FAET-FHAAT Ueh HeAThTel: $1afd| Tl STll: TThRITAHT: 6
yfdfdaded| TaRta T faeafae: Hse=y hisfedal gar g
IEdTae Iefd dal aeg yehRn: faaet: safdl dar sfaga afy:
safd| Tt dag foe] 3feerehR: TeRfd | der JmAToy, SJaRifor, 3udsra,
FoAlfel T 3FedhROT AEBIGAl Tocd| dal STel: FaUied|

qI: Fal 3gafd?

i



eellehl fScar reNfAfevesy ueaey qgHac AT -

HeAlold Hededddl Sdfead gigadr aRve)
dIdlcAS] ARIAATT ANTHGT ROT Y9 ||

dﬁ%q\aradciﬁ dollctholdh daT: el Eh*hira#

hY LN *+ Y * Y
AR gHIfFdSh Alda a‘tg Y HgehUTH]|
HaTsel gRTecel d deliechud o Hercdrel

M gRESer fasad arersTAfor: |

Fedel FF fawerd ?

| AT
| geTEere
| deT:Ee
ferTEarer

Correct Answer :-

| asT:Ede

4.



eellent afscar srenfAfesesy e g YIad -

ATTEd ﬁ?\jﬂmﬂ‘rwmﬁﬁ Eﬂ'@ﬂﬁﬁgzl
AT A A phaon Aadcidll
3egH: Aed O gfE: afda: o)
Y3d I dded dF ¢d: TG |l

THOH: & ?

7 eart afscr srnfafiseer weeTe Ede qEad -

Aed faeara# aey: A1fed canfaasr Ry:|
ARed g=EaAr fAT Haon A
e wed 4 gfg: erfed: ashe: |
§Sd IF dcled o od: TGl

EFT?TTI'U'ITJ . 319 "o ?

of,

1.
2 O3
5, 99
4, o

Correct Answer :-

. o8



, lea 7 ufa a5 &

" ofedd afScar TeAed YEAeR FIId -
ARG Tl ool sfd amar fasarfea | sream: e faaew
faemeryg ORIy fhad | #RA U @lfcleial -FHFEES Il 3feleck
faerreladr Fel | QU AT AH SeoUEAH SIAIA, | Yo ANGLIT,
AT ASAYAVN, TEelock T TSIAGATAT FIAGMAAA o TAT $IHT
STl 3787dc] | 3TSTeiqeNAT: ArgeT: 3110 SATAT UoTdlell 9eH 3eq: |
AeTIATR e -UhIeT G IfRIaTdd fohedied 31EATR e Falde-gHasTd |
dal URCIAHAALANT $TAT QU Tl 3087 | 319 Ud HAKAH,
TSCUTIHNTAH T TT: | Pl I ATHALT STAT =14 |

5 QU THAMT: GfeTor ae faueid | 379 3N qelelianie Freiea

aced | 3 I 3UR MG digfAfdd ToRveaaaAteT | v odeg
memlmmmeﬁwmﬁsnﬁ
01IJ-IIJ-Iﬁ:\J1C'4+L, Yo A-HeATATAH ERIT'I:G | Flfﬂﬂgr TAAY U@qﬁ?ﬁﬂﬁ,
geeedliel TN doied | fGeelled 3iaiehilel eamens 31T afed | ay
yRagilel Afed TGN 3T, RAGIRA (37USAT Ag), AR ISTTAH,
$a QAT 3T, fderpleard 7 sfd |

‘* 3AIOIAT: 3T & gAE: ?
N HFE%GI



eellehl gfScar IreNfAfevesy Teaey qgHaca I -

HAeilold ARddedddl Sdiead Tigadr alsas]
IIdTcAST IERYAATT ARTHAGT ROT T ||
HEQUTTeIh oolcthelch J&T-FUel Hiecst
AT TAFAD PITel JU P HSHUHA|
Hd1539 gRTegad I holdehUd I aj_,crdlq'l“&'

MY aRaftedr faerad AarerSEAr: |

3TcHST: ST GAT: &h: ?



aRzee afocar geaed YeHc gaad -
ARET ol ool 3 oot fasariea | 3eam: 7o faeaed
faemerg ORIy fhad | #RA o TN @il -FHFEGS IR 3feleol
faermeraaT Ty | T AT AH GeauEAH, ScUHad | Y4 HRELA,
dded ASAYAON, deedecl T TSTHANATAT HITrafATATH T TAT 5TA
TUSTETGAT 379 | 3MSTereefiam: emaar: 31T SHHT TSl JeH 3feq: |
HeaHcaTRelgeal-UhlAiaeriderddd fhedred 37EATS Sor: Flde-THoIed |
deT UTCIAHATANT 3THT [ ASUGAT 387 | 3T Ud HAKAH,
TSCUTIHTAH T T: | el ITT AMHAET 5THT [T |

S Qi T EfeTor a¢ fausid | 31 3RTUae gt Ereril
dded | 3F IHAET: 3UR A AlgATAT TeRoeaaARRd | Th (eamE
giacd ANl AT B | 37T A FAAY Jeafa Faera sArfa
SATATESIGH, Tod-Foakdladd 3G | dY TAEY  Aegafasiads,
THGdTH, [dAIaTH, IeIANHaAH, Tdleaddadd  Tedliad  3felehliel
geeedliel TGN dded | [Gedledl 3iashilel Seamela 30 @fed | ay
TGl Aled @Gl 36A1d#, SIRdeaR#A (SUSAT 1), dTelheRT 3614,
e AAT 3T, fderplea=d T 3fd |

foh STIRHA SegueaH sfd H2aad ?
1, Rl

. fe=tr



IRedE afScdl TaTd qGHc Fadd -

qd: uetd qaear QR 3afd | 3y f9eed 3eFd Tead) st faem:
IeURR AR AT IS Togr: dRRT faefear: s/afed| ey
gite: Serfdl A 3fqd Togar Ufdion @deRd Fafed| @RE:, o
Tered goer: fafedded) uaer: HgHEl goews er e ey
sarafd|

3ccdAT: BTET: YTl FAGATd Wieh Ua 3fcasaied| o il shedr
Seddldel $dled| dae] SURIH Hiedl il Hdlod | dadedd $e ereal
forf>ae, STemTlieh Hdfed| Tdgaedl d ST TUS Yoked| TP
T T HAUT RTled | HAedlee LT 3TdY: TAUs: sraid| faeivd:
AISHRI HTAT: ITET: §Tafd| TeT UIeaAT: JaTon SRITH A3R-ed |
GAET-HHAT, T HeATehlel: AT | &l STell: FEhRIEAAST: I[6
yfdfaaded| Tafeas] T faeader: shseay hisfed) Jer g3
TS IS dal a¥g YR FfERau: fafd| der dfiRea uf:
ofafd| I warg feg] 3fcushR: TR der Ao, Jarfor, 3uaeta,
gl T HUHRUT HBIedIl TTed | dal SF=r: Egufed|

TR TaPRITARST: J&T 3T [FeIFa: -

a—graff



aRae afecar UeaE YEHe FaIad -
AR Totermell ‘ool 3 ot faariea | 3/eam: oo faeaed
faemerg IRy had | HRA U @il -HFES AL elec]
femeTar FoRr | TR AT ATH ToouEAH ScaHad | Yd STRETE,
dded JSIYAVN, dedeck T TolAdeiaral FArea s I T $TAd
USTETGAT 31e7a | 3MSTeieelAT: e 31T SHHT U= G 3feq: |
HCATATRAGeR-UehlATaIfdeIdad fohedles 3EATH ol FAIde>aHTHAd |
deT ATSCIAHATANT 3IHT [ AT 387d | 319 U9 HALTAH,
TSCUTdddd] I T: | heglITd ATHALT STHT [AUTHH |

3 QU T BfATOT a¢ fausid | 31 WU gelsiante Sl
dded | 3T IHAI: 3UR WA AgATAT TeRoreaaAed | Teh Yed=mg
Sfad AN AT Pl | 3T TGy TAY AEATA FAAN SAT
#fed - Fga-FaFs:, dlgEare:, UvsdEl giH, UdHgIHA, IFAGIH,
STATATESIEH, Tod-FHoaddleld 3G | AdY TAERY  Ioufcsiass,
qHEdAH, [dATHTAH, 3cANHATAHA, Tdlegddadd qﬁ%?—lﬁ AT
geecdlfel TN doied | fGoellee 3ieiehifel 3eamea 31T Ffea | Y
gragia @fed FIdT 36a10d, ARAGIRA (ST0ST 31T), dTelheRT 36T,
Fe AT 3eATH, faerea=Ta 7 3fd |

THATAT: HIEA de Tordledl faeid ?



TRTIE IfScar TAeT YEHCR I -

qd: verd qaear fefr 3eafd | e faees serd Tead st faemm:
IR AR FIET IPHAT dog: dRIRT fdeqedn: #afed) aaify
gite: Serid | @dd 3fed gvear Ui @eRd ddfed| ola:, ofdn:
oA GHAS: fAfied| uas: HgAR Goleud e dyg e
TERAfd |

3ccAT: BHET: TsTdehlel FAGAT Uieh Uq 3fcassiod| o e dhear
CoctdTdel $dfec| dee] S FHedl Tl Falod | Tealocd $ ATl
fopf>ae e Hafed| TAgsteak T BN TUIS Tofed| FITH: T
T T AT HEMloc | AL FATT TAT: I=I0S: s7aid| faRIve:
ST 3TAY: HHET: fafcd| Tl UleT: F&Ton SRIFH 33w |
GATET-HHAT UTeh FeATehTol: #1afdl| Tl STll: FahRIEA: 6
fafeiaded | vateAs gad facaida: ey fisfedl Jar g3
IEdTIo TGTd del d¥d Uehlel: $fegul: #afd| der iucea i
afd| I Farg feg] 3feerhR: TR | der AT, HaRfor, 3uaeifs,
FeATlel T TcHROT HEBIGA Teocl| dal STol: FUiod|

AET  UehTRr: e Hafd |
, 2dqgur:



Yoliehl ufScar IeNfAfEted ueeed AgHca Fadd -

HeAlold ATSAdodddl Sdlead Sigadr aive)]
dIdlcAs IERYAATT HRTHAGT W7 e ||
FEUIcTeleh oTellctheleh J&T:Telel hiecsl
A JAIFAD FITel JIT L HIHUE]
HaTge gREeesT @ et = AFAarel
MuE gRafsear faerad Hﬂmﬂagmﬁ’r I

MUTAISIATOT: &: ?
o,

26) .
Yol afScar IreNfAfeved ueeedr Agdaca Fadd -

A faearaaT sy A1ed canfaasr Ry:|
AR gAFAT &7 Harom AEdGd
3eTH: el 8 gfe: AfFT: T |
§Sd IT dded I od: TG I

hd#: IUT: Th: ?

. 9UH:



Correct Answer :-

9ol gfecar srenfAafésesa uerea ?_J’ﬁdjrdi qad -

mﬁ?rﬁajamﬁraﬁgmﬁ?r EJ@'H?:ITﬂ'gr:I
AT A A paon A
3eaH: Aed O gfE: afda: wwa:|
YSd IF Ided dF od: THIGI |

Y3d 5 &: Hlee: ?

| SRcaH

3, e |
. 3T

Correct Answer :-



aRese afecar ueae YEHe FaIad -
AR Totermell ‘ool 3fa ot faoariea | 3/eam: oo faeaed
faemerg Y fhad | #RA o U @il -HEGS dIAl elec]
faemeraaT TN | T 3T AH SoaueAH, ScUHAd | Y4 HRERAT,
dded TSIYAON, deadeck T USTAAMATAT Aol arard, o A1 sTAd
TUSTHTGAT 3187ac | 3MSTeicelam: e 31T SHHT U= JeH 3eq: |
HeAtcaTRegeel-UehlAiaeIiderddd fhedlee 37 EATH oI Tlde-TH e |
deT UTSCIAAATANT 3IHT [ AT 37 | 3T Ud HHLIAH,
TSCUTIHTAH T T: | el ITT AMHALT 5THT [AUH |

5 QU I Efeior ¢ fausid | 31 3nTuIare geleiante STy
dded | 31T IHAET: 3UR IR AgATAT TeROCaIART | Teh (o e
Gfacd AN AT Hd | 37 Ay TACY LA TAEAS AT
Hied - P-FaFeT:, lgEaFe:, UUSAR GiH, YRIdegIH, IFagid,
STATATESIEH, Tod-Hoatdleld 3G | AdY TARY  Ieeafcsiass,
TUgdAH, [AAIHTAH, 3cANEIaAH, diegHddd qﬁ%?—lﬁ 3fAepITel
geeedliel TGN dcied | Geelleldl 3eishilel 3ameiiat 3T Fied | Y
gRagia @fed @IaT 36a9d, ARAGIRHA (STUST 31T), dTelheRT 36T,
FGFAAT 3T, ferepledTad T §fd |

for A 38T feeell R AT ?

dlelencIdl Jgdladd

1.
, faere seameA
, CITeTeaT 3T
, T 3eaH

Correct Answer :-

. ClTeldlET 3cAlTs



Yol ufScar JrenfAféseed veeed AgHaco’ Fadd

HeAlold HABAdedddl Sdlead SigHdr aive]
dIdlcAs IERYAATT HARTHAGT W7 e ||
hEUIcTeleh oTelicthelch J&T:Telel hiecsl
A FANFAD FITel JIT L HIHUTE]
HaTge gREeesT @ et = AFAGrel
MuE gRafsear faerad Hﬂmﬂagm‘ﬁﬁ’r: I

helde] ST h: TcId: ?
Fddd
o |

1.

AJ

2.

[
3.Q ~

5

Correct Answer :-

Topic:- Social Science (SSC)

1) “A project is a whole hearted purposeful activity, proceeding in a social environment”. This was quoted by: / "U® LIEIEE Tlf?ﬂi ATH W
TfIfaf g 2, St v arfre araraRer & amt aedt 81" g 5% gRT S5y fbar mr U

1. William Kilpatrick / faforasr frerifes

2. John Dewey / St Erdt

3. John V. Michael / Siie dt. #rsser

4. Stevenson / TE=HT

Correct Answer :-

- William Kilpatrick / faferga forenifees

2) Constructivism as new philosophical approach for curriculum designing focuses on: / UTeT®H feTsf~T & o ¢ eife TR F wu &
TG TR A FHigd Bar 21

1. Intrinsic motivation of the subject/ W &r idR® fAUROT

2. Delayed punitive mechanism / faeifd &areas yomelr
3. Extrinsic motivation of the learner / T8l & amer 31fAoRomT

4. Immediate reinforcements / dchlol Q%E‘S U

Correct Answer :-



- Intrinsic motivation of the subject/ fawr &r rafe ifFURoT

3) Which learning is interdisciplinary and focuses on active, student-directed learning providing students an authentic, real-world context for
learning? / @\ T ST, Sia:fawa § ok wftha, Bm-FERME siftrma = e Fka wvar B, R ol @1 Wem & fie we wmanfores, arafys giar o ded
W o S 82

1. Experimental / 9T a1

2. Curriculum Based / UTGIshd 3MUTRA

3. Project Based / UREASIAT TR 3R

4, Rote Learning / J& 3191

Correct Answer :-

« Project Based / U@ WX 3maiia

4) Which among the following is an example for institutional credit? / fFrafifEa ¥ @ $19 91 GRITE I8 & g T Iererur 2
1. Moneylenders / HTgPR

2. Primary Agricultural Credit Societies / UTfTeR Tﬁ' ar@ afafaar

3. Traders / SATART

4, Landlords / STaigR

Correct Answer :-

« Primary Agricultural Credit Societies / UTUfde ?ﬁ' arg afafaar

5) Which is not a quality of an evaluation tool? / faddsee Hedih YD B TH RINCE] e 82
1. Validity / d&ar

2. Practicability / TaTagIRewdT

3. Objectivity / fsuatar

4. Subjectivity / ST BURhdT

Correct Answer :-

« Subjectivity / SRR

Match the following :

1. Poona Pact A 1925
2. Rashtriya Swayam Sevak Sangh | B.1931
3. Simen Commissicn €.1932
4. Gandhi Irwin Pact D.1927

| AT &1 Haw

1. AT ST A. 1925
2. ¢ T e w | B. 1931
3. WA FR C. 1932
4, wieir-syfEw wEstar | D. 1927

1.1-A2-B,3-C,4-D
2.1-C2-A3-D,4-B

3. 1-C,2-A,3-B,4-D



4.1-D,2-C,3-B,4-A

Correct Answer :-

« 1-C2-A3-D4-B

7) Thin vertical and horizontal magnetic intrusions in the country rocks are known as which of the following? / W FH ﬂg‘Fﬁ T yaeht Heafer ik afest
Jaoig 98 9 o I w1 By 82

1. Lava / ofar

2. Locolith / afemfary

3. Plutonic rock / CTeeifeid age

4, Dyke and Sill / 3E® 3R Aer

Correct Answer :-

« Dyke and Sill / 3E® 3R f&e

8) The method which provides a certain degree of reality and concreteness to a learning situation is known as: / 98 faftr sit sifRrmy fRufa &1
3R R[EAT UM ! 8, A = HeT o 2:

1. Lecture-Discussion / SIRAT-Tri

2. Field trips / &9 gded

3. Dramatization / FATCHIT FATAR
4, Demonstration / U2
Correct Answer :-

« Dramatization / ATEHIT TR

9) Who among the following started the Home Rule Movement in India? / Rd # W T e REafaf@a & ¥ Fue GaRT Y&
R T 9

1. Annie Besant / Q:ﬁaﬁ?

2. B.R.Ambedkar / &1, 3. 3{dSHT

3. Jawaharlal Nehru / STdT&X ©lTel ﬁ'&‘x
4. Subhas Chandra Bose / gHTH Ig a4

Correct Answer :-

« Annie Besant / T s

10) Who was the famous Bhakti saint who belonged to the royal family of Mewar? / &ls ‘ilﬁa}l’ HFT d & Y AaE F A IRER
dreds @d a7

1. Meerabai / HRTETS
2. Chaitanya / Sd=a
3. Tukaram / JePRTHA

4. Andal / 37eoT

Correct Answer :-

+ Meerabai / HRTETS

11) Who was the first surveyor of archaeological Survey of India during British rule? / fafeer emaar & ke s qded |deToT HI
TgT HI&TOTHAT PleT AT?



1. Alexander Cunningham / 3TeidFoiax diciest
2. James prince / SIF8 i@

3. James Fergusson / Si&g Wc_—f

4. Dayanand Sahni / GITeg, ATE=AT

Correct Answer :-

« Alexander Cunningham / 3TIFsisX Bl

12) Who founded the Swaraj Party in 19232 / 1923 ® Farsr Ul i Tumgam fhaar 2
1. Motilal Nehru and C. R. Das / AT offel dig® 3R . 3R, a9

2. Gandhiji and Jawahar Lal Nehru / s 3R STdTEY offel ﬁ?ﬁl‘?

3. Subhash Chandra Bose / gHTY I CIS|

4. Sarojini Naidu / RIS g

Correct Answer :-

« Motilal Nehru and C. R. Das / Ay offel ag&® 3R @Y. 3R, a9

13) Who is the exponent of Jurisprudential Inquiry Model? / faftreme et Jtg Alsd F gfaues Sl §2
1. Bill Gordon / & e

2. Richer Suchman / R=R gaa=

3. James Shaver / &0 AR

4, Hilda Taba / f&ear drar

Correct Answer :-

- James Shaver / SiFH AT

14) Who was first elected to the British House of Commons? / fafeer g3q 3% siH=w & AT a0 o Fa AT AT AT?
1. Jawahar Lal Nehru / STdT&{ oTel ﬁ'ﬂ?

2. Mahatma Gandhi / FelcHT el

3. M. G. Ranade / TH.ST. IS

4. Dadabhai Naroji / STGTHTS ARIof!

Correct Answer :-

« Dadabhai Naroji / GTGTHTS “RIoft

15) Capital of Ancient kingdom of Avanti was: / ach & Ui THATST N TUE o
1. Vallabhi / aearefy

2. Pataliputra / Umgif

3. Vidisa / fafgem

4, Ujjain / oot

Correct Answer :-

« Ujjain / 3591



16) For what action in Freedom Movement is Usha Mehta known? / Tadadl 3iielest & @ &7 & v 39T Agar S arelr &2
1. Participating in Round Table Conference / TaHS TRIe H YT A4 & forg

2. Running a secret Radio during Quit India Movement / HRd BIST i & RH TH ‘IGR’%@[ Jam

3. Captain in Azad Hind Fauz / 3fT9TTE, fég ®IS & St a4 & forg

4. Captain in Indian National Army / WH@H@Wﬁ Easis)

Correct Answer :-

« Running a secret Radio during Quit India Movement / HRd BISI 3feieH & R U T IS Iam

17) The famous woman ruler of Ahmad Nagar, Chand Bibi fought against which dynasty? / 3gHEeIX I m AR AEF Fig ey A
e gur & R@eme w3 @@

1. Mughal / 3aTel

2. Adilshahis of Bijapur / fISTqY & 3Tfeermmer

3. Afghan / 3T

4. Nizamshahi of Hyderabad / %ETIEI'IT:I & fasmeremer

Correct Answer :-

» Mughal / JITT

18) The coin Rupiya was first issued which ruler? / 39T f@¥#T TaW Tgal Fd s o S fhar am?
1. Humayun / g’ﬂ'l'!{

2. Babur / dTelX

3. Sher Shah / QR 2TE

4. Akbar / 3TheX

Correct Answer :-
« Sher Shah /2R 2IT&

19) The cardinal objective of setting up a Social Science laboratory in the school is to: / Rgamerm & wwow Fae yahremar safia @ @
g 357 §:

1. Preserve and transmit the art and artifacts to the future generations / &elr 3R fRreuspfaal # wRfEid #=n AR wiasy Hr difeal T agamET
2. Create an artificial environment for recreational activities of students / ST & FAANSIH fhaThemal & forw v HiAA ardreRor T

3. Extend additional space for group activities and project works / THg fharwemdt 3R oRTIe=r @it & fow sfafRes T ean

4. Translate the theoretical postulates in to concrete experiences / Jgifaw sfyRonsit &1 3 3‘|§'1-|33f o 3dlg HRHAl

Correct Answer :-

« Translate the theoretical postulates in to concrete experiences / Jgifae siftreRomat &1 39 G-Iﬁ'l-lfﬁ | 3dlq DT

20) Two or more people learn or attempting to learn something together is known as: / @ a1 3ifa% @ vs @1y F& @@qd § ar d@a #v
YA FA &, $9 AT FeT o 8

1. Learning by observation / 3m@dida gRT 31fdemT
2. Learning by doing / frarefers 3iferms
3. Collaborative learning / @reffeess i

4. Team Teaching / geirar fRvafor

Correct Answer :-



« Collaborative learning / ®Hfes 3T

21) Which one of the following is not included as a function of Summative Evaluation? / fasaifaf@a & @ a1 nens Aeaisa & & a9 &
w0 # nfAe a7 &2

1. Promoting / WicaTes

2. Selecting / TIA

3. Diagnosing / fagre

4. Crediting / 9 &aT

Correct Answer :-

- Diagnosing / fagra

22) Which is associated with Sufi Saints? / ®lsT |1 H:I?I' Hdal ¥ gefaa &2
1. Sangha / @E

2. Mandapa / 34T

3. Synagogue / TTIATINIST

4, Kanjah / &l

Correct Answer :-

« Kanjah / @&

23) Which of the following is not a basic principle of Project method? / Fafaf@a & ¥ Far A= R &1 AT ﬁﬁ}ﬂa‘ gt &7
1. Validity / duar

2. Activity / aifafafe

3. Utility / 3u2nfarar

4. Purpose / 332

Correct Answer :-

« Validity / derar

24) Which of the following is the process of pinpointing the learning difficulty of a learner of a learned material and to suggest remedial
measures?/ﬁmﬁﬁa##wﬁ@ﬁa@#@ﬁmﬁﬁﬁuﬁ#aﬁaﬁaaﬁwmﬁ?mmﬁmwaﬁaﬁ
ufear &2

1. Projective technique / 9&TdT deheiich

2. Norm-referenced testing / et Teiaid TLI&ToT

3. Diagnostic testing / sieTfeer TT&ToT

4. Criterion-referenced testing / s Hefod fafdy

Correct Answer :-

« Diagnostic testing / e Tlrefor

25) Which of following steps is not involved in Inquiry Method? / &-ars faffr & &l @1 =xor enfder 78T 8?2
1. Encounter with the problem / §HEIT &1 ATHAT HIAT

2. Formulating an explanation / Teh FTUERIOT AR AT

3. Data collection and verification / T T 3R g



4, Classification and consensus / @affertor 31k TdHFaAa

Correct Answer :-

« Classification and consensus / @affertor 31k TdHFafa

26) Which among the following is not a technique for ensuring reliability of a tool? / FFaifaf@a # & a1 fvaweryar #1 gaRaa F= A
GETic e

1. Odd-even method / ¥ fawa fafd

2. Split-half method / fasarard fafr (Ruce-gie #s)

3. Test-retest method / TRI&TOT Gef:-udator fafer

4, Criterion-referenced method / #Aldes Feid A (FreecRaa-Reits Aus)

Correct Answer :-

« Criterion-referenced method / #ATAEs Hefdd AT (FEeRIT-RHIEES AUT)

27) Assessing social relationship among members in a social group is termed as:

| v wEfoE wag A wewdl & i wefew aeul & e Qe s e 8
1. Projective technique / T&TdT deheiich

2. Case study / &g T2

3. Sociometry / FHATSITATT

4. Observation / 37dcitded

Correct Answer :-

« Sociometry / THATSITATT

28) What was the approximate share of industry in GDP in 2015-16 in India? / 2015-16 & %R & A& e 3c9Tg (Shshdh) # 35T F1 WR
wforera ar

1. 43%

2.31%

3.29%

4. 18%

Correct Answer :-

e 29%

29) Gandhian Plan was advocated by /Ay Qe 1 gRde F gant R arar am
1. M. N. Roy / FATAIGATY I

2. Jayaprakash Narayan / STIUIRA ARTIOT

3. Narayan Agarwal / ARTIUT 3IdTel

4. Jawaharlal Nehru / STATEelTel Ag®

Correct Answer :-

» Narayan Agarwal / ATRTIUT 3{ddTel

30) National Forest Commission was established in the year . | TSET qa ART Y TYIAT I o) §'§‘ Uil

1. 2003



2. 2005
3.2002
4. 2004
Correct Answer :-
« 2003

31) In which city was the first Automated Teller Machine (ATM) installed? / TI# 3iTeYAes ¢or Aela (Faanfaa orew #ehe) (vdiva) fFar erew &
Ty & 71§ o

1. Chennai / I=T$
2. Delhi / fgeetr
3. Calcutta / dhefhdl

4, Mumbai /31@3

Correct Answer :-

e Mumbai /Ejﬂé'

32) Which of the following factor is not the geography factors influencing population distribution? / fAw=ifaf@a A ¥ FA-AT FRF FTAGEIT Faor FHr
T S qTell ST FRSF A6l o2

1. Soil / =T

2. Water / OTel

3. Climate / STeldrg
4, Industrialization / 3fENfiERor

Correct Answer :-

o Industrialization / i

33) FAO stands for ./ THUAT FHT Tﬁ' T 2l
1. Food Aid Organisation / %3 US TifiheeR e
2. Food and Agricultural Organisation / 8 U8 TdflheeR MBI

3. Federation for Agricultural Output / B2 BIR TfihetR 3r3¢gce
4. Federation for Agricultural Off take / HEIE B THheR 3iTh &h
Correct Answer :-

 Food and Agricultural Organisation / {3 U3 Tifidhed] AR

34) politics is based on the idea that religion is the principal basis of social community. / T 30 AR w araRa § & aaF
ATRF FHSE T TE UR

1. Regional / &1

2. Communal / TYETA®
3. Local / ¥

4. Social / AR

Correct Answer :-

« Communal / @TUETRH



Who said that, ‘As far as the nature of legislature is concerned it is such that there are restrictions only so far as procedure is concerned. But in substance
there are no restrictions, no limitations on the sovereignty of the legislature or parliament.’ / icic el ﬁ?, 'azi da& faenfer i ‘]Tﬁ' FT HaY %, ar
vfaay Faa 9fFar & waet # € fre avafwar & Rufs o dwe f I ® F1§ vfawy 7@ § #1§ dwe a@d {-

1. Acharya Kripalani / 3=y PUTAT

2. Purnima Banerjee / QfOTAT aatait

3. N.V.Gadgil / Ta1.dr.amsfarer
4. Durgabai Deshmukh / gaaTg Sref@

Correct Answer :-

« N.V.Gadgil / vt.d7ams e

36) Who can confer civil and military awards on individuals for their services and achievements? / Fam3it 3R 3yaferat & R FFaal #1 AR
3R VT [EFR T g F qSHaT 82

1. President / TgUfa
2. Prime Minister / T
3. Cabinet Minister / $fdaie AT

4. Chief Justice / FTT =ITATT

Correct Answer :-

 President / Tl'i!'qﬁ

37) Who was the first social scientist to make a systematic study of bureaucracy and described it as rational and the most efficient form of organisation? /

AU FT AT HETTT FA aTd AR FH THET AR FroT FT Fa@ FAAT T I a1 Ggd FAMSE d1fors Far &2
1. Karl Marx / Tl 1

2. F. W. Taylor / U%. 3¢eq, Tok

3. F. W. Riggs / Th. 3eeg, Rad

4. Max Weber / Hd JaR

Correct Answer :-

« Max Weber / o &R

38) Who was the first Chairman of Planning Commission of independent India? / ¥add HRd & Il ATANT & Ugel HeqaT HiT &2
1. Morarji Desai / RIS $8T$

2. Lal Bahadur Shastri / oITe EF&‘-'I%T AMET

3. Pandit Jawaharlal Nehru / Gf3d STametere dg®

4. Dr. Rajendra Prasad / 2} Tl ydTe

Correct Answer :-

« Pandit Jawaharlal Nehru / Ufed STamelelTel dg®

39) Who is the founder of Bhartiya Jana Sangh? / IRAT S&HT & WEAGH HiT &2
1. Gopal Krishna Gokhale / 3INUTel 0T iT&er

2. Shivaram Rajguru / frara TSTITe

3. Shyam Prasad Mukherjee / ITH UHIG 33'-@Trﬁ

4. Sukhdev Thapar / g@cd ATIT

Correct Answer :-



e Shyam Prasad Mukherjee / TTH THIG a’@?ﬁ

40) Who will officiate as President till the new President is elected in case the office falls vacant and the Vice-President is not available? / Tgufa Faiera
¥ Raa g 3t swsgufa & 3ueey @d @ ff Fufa & av weufa § FaiRT @ aF weufa § ¥ & sl 18 FoOm

1. President Secretary / Trgqﬁ afaa
2. Prime Minister / T&ITTH3T

3. Executive Secretary / FIGRI TRa
4. Chief Justice / &I Fargefer

Correct Answer :-
« Chief Justice / HET =ATLRA

41) The monetary assistance provided by the government for encouraging the production in an economy ./ 9IaEAT A 3cUeA H Weared
o & AT WER @R § 7§ AfEF Fgrar gl

1. Tariffs / 9o (ERW)

2. Subsidy / sTEE™IAT (Gfesn)
3. Quotas / eT

4. Embargo / TR ey
Correct Answer :-

« Subsidy / TStaERIdT (AfeHs)
42) When was the National Rural Livelihood Mission launched? / ISgr Jmfior rsiifast e w9 g fmar o ar
1. 2001

2.2010

3. 2002

4.2011

Correct Answer :-

e 2011

43) “Explain the concept of Forests” — this question helps us to know the achievement of which of the following objectives? / gl T FTUROT A TEAT
A" - 95 U g PrAfaf@a & ¥ 5 3q8e7 Y 3udfey e § Agg Far 87

1. Skill / &ierel

2. Creating / §ofel &Il
3. Analysis / faréror

4. Understanding / HL
Correct Answer :-

o Understanding / §HL

44) The Golden Age of the Guptas is said to be the reign of which ruler among the following? / fFafaf@d & ¥ 5w aWF F AR I
Ieat &1 Tl AT FET ST §?

1. Skandagupta / W’JIH
2. Chandragupta Il / Jegad |l

3. Chandragupta | / Jeqd[d |



4. Kumaragupta / PHARIH

Correct Answer :-

« Chandraguptall / Jegdd |l

45) Who was the founder of the Holkar Dynasty? / Bl IJSTdY & HEITUP HI A?
1. Bana Misra /Wﬁ%ﬂ

2. Malhar Rao / HegR X4

3. Baji Rao / TSIt XG0

4. Madhav Peshwa / HIYqd Trar

Correct Answer :-

« Malhar Rao / HegR Id

46) The 110 km long Actual Ground Position Line (AGPL), which has been a thorny issue between India and Pakistan is located near which among the following?

/110 Rreeie &t aafas aEs AoRE aEa (whdive), A AR AR TiEeaE F dT TR qear @ 3, PR § @ ey Ree Rua
1. Shakshgam / Q&ZITH

2. Siachen Glacier / f@fa TafRR

3. Sir Creek / &Y 3l

4, Srinagar / IR

Correct Answer :-

« Siachen Glacier / R@mfRe R

47) Which of the following organisations brings out independent reports on the violation of human rights all over the world? / RFfaf@a & ¥ sia-u1 wares
@t gfar § AeafReRt & Iedaa W FadT RO o 32

1. UNESCO / JaEt

2. Amnesty International / TFIEET SeXIRATeT

3. International Humanitarian Law / 3-8 AT lefed
4. UNDP / JuASIqY

Correct Answer :-

« Amnesty International / TFAET SEIAATH

48) Which of the following is not a type of Urban Local Government? /ﬁmrﬁﬁ?r # A Fla @ & yFR A AEN TUET TWFER Fl'ﬁ %?
1. Zilla Parishad / e aftwg

2. Notified Area Committee / 3fgfaa &7 afafa

3. Cantonment Board / &TdaT as

4, Town Area Committee / Sh&aT &1 TfATT

Correct Answer :-

« Zilla Parishad / T5erm afRug

49) External criticism is applied in: / 9T&l SITA=AT ﬁa‘l"lﬂﬁﬂﬁﬁ%l
1. Experimental research / Uraifaies 3rga@are

2. Quasi experimental research / 3¢ RIS JTaUTT



3. Historical research / ¥faefaes 3-]@?‘111?[
4. Phenomenological research / BT 3HYT

Correct Answer :-

« Historical research / UfeIie g

50) What is not true about Hasan Gangu Bahmani? / 89 TR 9891 & 91X ® 0T W 81 8?2

1. His kingdom stretched from the Arabian Sea to the Bay of Bengal, included the whole of Deccan up to the river Krishna with its capital
at Gulbarga. / 3T I 3R EOR & ol P WS deb Herr AT, THGH e F AU TG F G FOOT T8 d g
Garenet GiFAfera |

2. He was a Turkish officer of Devagiri. / & 3affidl & v bl rfsry A
3. Hasan Gangu Bahmani was the founder of Bahmani Kingdom. / &8« 319 Ggel!, dgdlell AT & TEIUH |
4, He founded the empire in 1437. / 3e@lel 1437 & THST & TATTAT &

Correct Answer :-

« He founded the empire in 1437. / 3c@lal 1437 & THTST HI TATTAT FHI|

51) Which among the following organization is the best example of an agreement between Oligopolists? / fFrafafaa & ¥ S9-1 w@req

IERIPR (SNRMUIRRCET) & 9 e TS BT Jad 35T IS8 82
1. GATT / Sfreérer
2. OPEC / 3ndigeh
3. WTO / 3eeggi3it
4. WEF / 55cg3U%h

Correct Answer :-

« OPEC / 3digsh

52) Which one of the following ocean currents does not occur in the Atlantic Ocean? / Frafafaa & § S TERITR YRT 3Edifed
HETENR # 781 gielt 82

1. Peru current / UF YRT

2. Canary current / ST URT
3. Gulf stream / 3T TEIH

4. Brazil current / SlToilel ¥RT

Correct Answer :-

« Peru current / U% YRT

53) In which State of India is the Ranthambore Tiger Reserve located? / JUYHR CIT R frord yRa & fPa vTsu A fR@E %?
1. Uttar Pradesh / STR =T

2. Madhya Pradesh / #ET Wer

3. Himachal Pradesh / fdATaer weer

4. Rajasthan / TeEAE

Correct Answer :-

» Rajasthan / TeEUE



54) When is 'National Education Day' celebrated in educational institutions at all levels across the country? / 9 MW # gt T ) Marw e #
AT e o F9 AART AT 82

1.15th September / 15 RdFaR
2. 12 October/ 12 3TFEaR

3. 14" November / 14 TR

4. 11™ November / 11 ek

Correct Answer :-

« 11" November / 11 FdsR

55) Which among the following is a wildlife trade monitoring network? / faFafaf@da # F FiT W v qFgST AR AIREN Acah §2
1. TRAFFIC / ¢fthar

2. UN-HABITAT / Jua-gdiee

3.PETA / Uer

4.DISS / 3w

Correct Answer :-

« TRAFFIC / ¢ftham

56) Which year British transferred the capital of India from Calcutta to Delhi? / fFa a¥ & RIfeer F 9Ra A Ve Fasdar F et TaE=EART A
o ?

1. 1912
2. 1930
3.1911

4. 1900

Correct Answer :-

57) The pointer or arrow of the magnetized needle of a compass indicates which among the following? / T& ﬁﬂjﬁ? (FFaTE) HY i_ﬁﬁ-ﬁl‘
¥§ # gIF A1 dR feafaf@a & & B 3fa wwar &

1. Geomagnetic North Pole / s@mﬁu LIl qa
2. Geographic North Pole / #ioniferes i ga
3. Magnetic North Pole /W S qa

4. Magnetic South Pole / W gl %?J

Correct Answer :-

+ Magnetic South Pole /@a’iﬁ'& giaofr ga

58) Which type of weathering is caused by Ice Crystal growth? / fgsr &t #r ¥qgfer (3msw e My) & e & FROT W T&R &7 3rqe™
g 82

1. Cavernous Weathering / haeie 310&T
2. Biological Weathering / Sifd& 3maata
3. Chemical Weathering / TS 31987

4. Physical Weathering / #ifde 3aam



Correct Answer :-

« Physical Weathering / #ifde 3aa™

59) Bessemer process has been used in which of the following industries? / ST Ufdhar &1 3ualer Aeafaf@a & & frw 3gahr &
T &

1. Fertilizers / 33

2. Aluminum / TegHifaga

3. Steel / SEATA
4. Coal / BIIT
Correct Answer :-
o Steel /SEUTT

60) The Siberian Crane, an endangered migratory bird is a regular visitor of which of the following national park/bird sanctuaries? / FTgaRIT
e, T ey yarh galt feafaf@a & @ e wdar seame/eah s F fAafaa smrgs @2

1. Vedanthangal bird sanctuary / delecsTel GafT IR
2. Keoladeo national park / hdelica TE AT

3. Ranganathittu bird sanctuary / TJTHT‘@E\K el HHIRUA
4. Sultanpur bird sanctuary / Hedleq gall ITHIRTY
Correct Answer :-

» Keoladeo national park / hadred TF@'&' 3T



